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Question Number : 1 Question Id : 6154755821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the list given below 1dentify those competencies of an effective teacher which relate to
the domain of personality and attitude.

(a) Locus of control

(b) Communicating

(c) Managing

(d) Self—efficacy

(e) Teacher enthusiasm

(f) Being organised and orderly

Select the correct answer from the options given below :

(1) (a). (b) and (c) (2) (a). (d) and (e)
(3) (b). (c) and (d) (4) (d). (e) and (D
Options:

615475227011
G1547522702. 2
61547522703, 3
E1547522704. 4

Question Number : 1 Question Id : 6154755821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547522701, 1
B1547522702. 2
B1547522703. 3
B1547522704. 4

Question Number : 2 Question Id : 6154755822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the spectrum of teaching methods which of the following will be called ‘dialogic™?

(a) Demonstration method

(b) Problem—solving method

(c) Chalk and talk method

(d) Team teaching based method
(e) Interactive presentation

(f) Tutorials

Select your answer from the options given below :

(1) (a). (b) and (c) (2) (b). (¢) and (d)
(3) (c). (d) and (e) (4) (b). (e) and (f)

Options:



BE1547522705. 1
B1547522706. 2
B1547522707. 3
E1547522708. 4

Question Number : 2 Question Id : 6154755822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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B1547522705. 1
B1547522706. 2
G1547522707. 3
61547522708, 4

Question Number : 3 Question Id : 6154755823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which level of teaching, lower level learning outcomes get focussed?

(1) Memory level (2) TUnderstanding level
(3) Reflective level (4) Autonomous development level
Options:

615475227051
61547522710, 2
61547522711, 3
B1547522712. 4



Question Number : 3 Question Id : 6154755823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475227051
61547522710, 2
61547522711, 3
B1547522712. 4

Question Number : 4 Question Id : 6154755824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following evaluation systems belongs to the category of being an innovative
practice?

(1) Semesterized examinations (2) Performance evaluation
(3) Portfolio based evaluation (4) Learning outcome based evaluation
Options:

B1547522713. 1
B1547522714. 2
61547522715 3
E1547522716. 4

Question Number : 4 Question Id : 6154755824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475227131
61547522714, 2
61547522715 3
B1547522716. 4

Question Number : 5 Question Id : 6154755825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The purpose of ICT use in education 1s to

(1) Attract students (2) Make teaching interesting
(3) Optimise learning outcomes (4) Promote technology culture in teaching
Options:

61547522717, 1
E15475227158. 2
B1547522718. 3
B1547522720. 4

Question Number : 5 Question Id : 6154755825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E1547522717. 1
61547522718, 2
E15475227149. 3
B1547522720. 4

Question Number : 6 Question Id : 6154755826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the post positivistic approach to research which of the following types of researches got

emphasized?
(a) Experimental research
(b) Phenomenoclogical research

(c) Ethnographic research
(d) Ex Post Facto research

(e) Action research

Give the correct answer from the options given below :

(1)  (a). (b) and (c) (2) (b), (c) and (d)
(3) (b). (c) and (e) (4) (c). (d) and (e)

Options:



B1547522721.1
Bl547522722. 2
B1547522723. 3
E1547522724. 4

Question Number : 6 Question Id : 6154755826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B1547522721.1
B1547522722. 2
B1547522723. 3
G1547522724. 4

Question Number : 7 Question Id : 6154755827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following formats. ‘Research Abstract’ 1s a must?

(a) Research article

(b) Seminar paper presented
(c) Thesis

(d) Research synopsis

Choose the most appropriate option from those given below :

(1) (a). (c) and (d) (2) (a).(b)and (d)
(3) (a). (b) and (c) (4) (b). (c) and (d)
Options:

615475227251
E1547522726. 2
B1547522727. 3
B1547522728. 4

Question Number : 7 Question Id : 6154755827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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B1547522726. 2
B1547522727. 3
B1547522728. 4

Question Number : 8 Question Id : 6154755828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following sequences represents the most logical sequence 1n doing research?

(1) Identifying and defining a research problem. formulating a hypothesis, testing of
hypothesis and reporting the results

(2) Identify a research problem, defining the population and sample, collecting data and
analysis of data

(3) Survey of research. defining the research problem. collecting data and presenting the
outcomes

(4) Defining research wvarables, hypothesizing. testing of research and reporting of

research outcomes

Options:

61547522729, 1
615475227320 2
61547522721, 5
61547522732 4

Question Number : 8 Question Id : 6154755828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547522729, 1
E15475227320. 2
61547522721, 5
61547522732 4

Question Number : 9 Question Id : 6154755829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A umversity teacher intends to study the relationship between level of aspiration and
achievement of rural children. Which design of research will be most appropriate in the
context?

(1) Experimental research design (2) Ex Post Facto research design
(3) Historical research design (4) Survey research design
Options:

BE1547522733. 1
B1547522734. 2
B1547522735. 3
G1547522736. 4

Question Number : 9 Question Id : 6154755829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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BE1547522733. 1
B1547522734. 2
B1547522735. 3
G1547522736. 4

Question Number : 10 Question Id : 6154755830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hypothesis testing 1s the main concept of which type of research?

(1) Experimental research (2) Historical research
(3) Survey research (4) Exegetic research
Options:

61547522737, 1
BE1547522738. 2
BE1547522739. 3
B1547522740. 4

Question Number : 10 Question Id : 6154755830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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B1547522737. 1
61547522738, 2
61547522739, 3
E1547522740. 4

Question Number : 11 Question Id : 6154755831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Communication 1n the classroom takes place in which of the following levels?

(1) Opportunmistic meaning (2) Surfacial meaning
(3) Noise-level meaning (4) Non-coded meaning
Options:

615475227411
B1547522742 2
61547522743 3
61547522744, 4

Question Number : 11 Question Id : 6154755831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547522741. 1
B1547522742 2
61547522743 3
61547522744, 4

Question Number : 12 Question Id : 6154755832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Effective classroom communication can transform
(1) academic administration (2) academic marketing

(3 teaching—learning process (4) management strategies



Options:

61547522745, 1
61547522746 2
E1547522747. 2
61547522748, 4

Question Number : 12 Question Id : 6154755832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547522745. 1
B1547522746. 2
B1547522747. 3
61547522748, 4

Question Number : 13 Question Id : 6154755833 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Learner communication has relatively high potential of challenging

(1) Teaching as profession (2) Innovative and creative ideas
(3) Methods of evaluation (4) Long-held attitudes
Options:

B1547522749. 1
61547522750, 2
61547522751, 3
61547522752, 4

Question Number : 13 Question Id : 6154755833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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BE1547522748. 1
B1547522750. 2
B1547522751. 3
B154752275%. 4

Question Number : 14 Question Id : 6154755834 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which of the following are rhetorical techniques for structuring classroom communication?

(a) Relating the day’s topic to students’ interests

(b) Providing scattered information to the target audience

(c) Smooth transition from one 1dea to another

(d) Avoiding the use of artifacts

(e) Using media to improve the quality aspect of reception of messages

(£) Opting for one-way communication

Choose the correct option from the choices given below :

(1) (a). (b) and (c) (2) (b). (c) and (D
(3) (a). (c) and (e) (4) (d). (e) and (D
Options:

615475227531
61547522754, 2
61547522755 3
E1547522756. 4

Question Number : 14 Question Id : 6154755834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475227531
61547522754, 2
61547522755 3
E1547522756. 4

Question Number : 15 Question Id : 6154755835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (4) :  Defining the objectives of the topic of dicussion 1s not necessarily the first

step 1n classroom communication

Reasons (R) : Clear definitions of objectives make students understand the topic well.

In the light of the above stated two statements, choose the correct option from the cholces

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:
E1547522757. 1

E1547522758. 2
E1547522759. 3
B1547522760. 4

Question Number : 15 Question Id : 6154755835 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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B1547522757. 1
61547522758, 2
61547522759, 3
E1547522760. 4

Question Number : 16 Question Id : 6154755836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A 1s father of B and C 1s sister of A. D 1s grandson of C. How 1s D related to B?

(1) Uncle (2) Nephew
(3) Cousin (4) Grandson
Options:

B15475227E1. 1
B1547522762. 2
B1547522763. 3
B1547522764. 4

Question Number : 16 Question Id : 6154755836 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475227611
E1547522762. 2
61547522763, 3
E1547522764. 4

Question Number : 17 Question Id : 6154755837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475227651
61547522766, 2
B154752276Y. 3



B1547522768. 4

Question Number : 17 Question Id : 6154755837 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E15475227EE. 1
61547522766, 2
1547522767, 3
61547522760 4

Question Number : 18 Question Id : 6154755838 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HHPU=9, JNU =9, then DU =7

(1) 5 (%) 6
(3) 4 4 7
Options:

E1547522769. 1
B1547522770. 2
B1547522771. 3
B1547522772. 4

Question Number : 18 Question Id : 6154755838 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

afe HPU=9,JNU=9, @i DU= 7

(1) 2 (2) 6
(3) 4 4 7
Options:

B154752276%9. 1
B1547522770. 2
B1547522771. 3
G1547522772. 4

Question Number : 19 Question Id : 6154755839 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one 1s the wrong number in the given series?

3. 13. 43. 53. 63. 83.

(1) 13 (2) 53
(3) 63 (4) &3
Options:

E1547522773. 1
61547522774, 2
B1547522775. 3
B1547522776. 4

Question Number : 19 Question Id : 6154755839 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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3. 13, 43, 53. 63, 83

(1) 13 (2) 53
(3) 63 (4) 83
Options:

615475227731
E1547522774. 2
61547522775 3
B1547522776. 4

Question Number : 20 Question Id : 6154755840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A sum of money with compound interest becomes Rs. 2,400 1n one vear and Rs. 3,000 in two
yvears. Find out the principal amount.

(1) Rs. 1.900 {(2) Rs. 1,910
(3) R=. 1,915 (4) Rs. 1,920
Options:

B1547522777. 1
B1547522778. 2
B15475227758. 3
61547522780, 4

Question Number : 20 Question Id : 6154755840 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547522777. 1
B1547522778. 2
B15475227758. 3
G1547522780. 4

Question Number : 21 Question Id : 6154755841 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term “Yogaja’ (intuitive) pertains to which of the following pramanas?

(1) Perception (2) Inference
(3) Verbal testimony (4) Comparison
Options:

61547522781, 1
G1547522782. 2
E1547522783. 3
B1547522784. 4

Question Number : 21 Question Id : 6154755841 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547522781. 1
B1547522782. 2
B1547522783. 3
61547522754, 4

Question Number : 22 Question Id : 6154755842 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following propositions. both can be true simultaneously but cannot be false
simultaneously?

(1) Contrary (2) Contradiction
(3) Sub contrary (4) Subaltern
Options:

B1547522785. 1
B1547522786. 2
B1547522787. 3
61547522788, 4

Question Number : 22 Question Id : 6154755842 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547522785, 1
G1547522786. 2
E1547522787. 3
E154752278E. 4

Question Number : 23 Question Id : 6154755843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following pramanas 1s used by classical Indian school of logic to prove the

existence of God?

(1) Arthapatti (postulation) (2) Upamana (comparison)
(3) Perception (Pratyaksa) (4) Inference (anumana)
Options:

6154752278591
61547522730, 2
E1547522731. 3
BE1547522732. 4

Question Number : 23 Question Id : 6154755843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) T (4) A
Options:

615475227859, 1
61547522730, 2
61547522731, 3
B15475227392. 4

Question Number : 24 Question Id : 6154755844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“All tigers are animals”. This 1s an example of which type of proposition?

(1) Particular Negative (2) Particular Affirmative
(3) Universal Negative (4) Umversal Affirmative
Options:

B15475227393. 1
B1547522734. 2
61547522735 3
E1547522736. 4

Question Number : 24 Question Id : 6154755844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o 2 =\ r ey
“gdl =519 TR AR T U%N & T & J2E 2 7

(1)  fagm fuy (2) T fag=
(3)  =EYm fmy (4) TEYE fEs
Options:

E1547522733. 1
61547522734, 2
B1547522735. 3
B15475227396. 4

Question Number : 25 Question Id : 6154755845 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The inference “A mouse 1s an animal. Therefore, a large mouse 1s a large animal” commits
which one of the following fallacies?

(1) Straw man (2) Shpper slope
(3) Equivocation (4) Fallacy of composition
Options:

E1547522737. 1
61547522738, 2
E15475227399. 3
E1547522800. 4

Question Number : 25 Question Id : 6154755845 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =@ (2) Teawdt =g
(3) A (4) @R I
Options:

61547522737, 1
E154752273958. 2
B15475227395. 3
B1547522800. 4

Sub-Section Number: 2
Sub-Section Id: 615475259
Question Shuffling Allowed : Yes

Question Id : 6154755846 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension



Directions (Que. : 26-30)

The following table gives the sales of computers of different types or brands over the years
2001 to 2007. Baszed on data. answer the questions (26 — 30).

Number of different types of computers sold (In thousands).

Tvpes of Computers
Lenovo | Acer | IBM | HCL
2001 20 40 50 80
2002 30 25 60 70
2003 50 50 50 55
2004 60 70 40 35
2005 70 85 70 25
2006 80 45 80 20
2007 90 60 100 | 10

Years

-

Sub questions

Question Number : 26 Question Id : 6154755847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The difference in the number of Acer computers sold 1n 2002 and 2005 1=

(1) 15.000 (2) 20,000
(3) 45,000 (4) 60,000
Options:

61547522801, 1
E1547522802. 2
E1547522803. 3
61547522804, 4

Question Number : 27 Question Id : 6154755848 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The percentage increase 1n the sales of Lenovo computers in 2007 compared to sales 1n
2001 1s

(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

61547522805, 1
61547522808, 2
E1547522807. 3
E1547522808. 4

Question Number : 28 Question Id : 6154755849 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Name the type of computer for which the total sale 1n all the seven years 1s maximum?

(1) IEM (2) Lenovo
(3) Acer (4) HCL
Options:

61547522809, 1
E1547522810. 2
E1547522811. 3
B1547522812. 4

Question Number : 29 Question Id : 6154755850 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which vear, the percentage of Acer computers sold as to the total number of computers
sold, was maximum?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

615475228131
61547522814, 2
61547522815, 3
E1547522816. 4

Question Number : 30 Question Id : 6154755851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Name the type / brand of computer whose sale has decreased continuously over the vears
2001 to 2007.

(1) Lenovo (2) Acer
(3) IBM (40 HCL
Options:

B1547522817. 1
61547522818, 2
E1547522818. 3
BE1547522820. 4

Question Id : 6154755846 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cesticn Label | Comprehension



s : 9= 9T 26 § 30

e afetl ® 99 2001 H 2007 F 27 70 fafus TR 51991 575 5 Fog 1 ol 1 39 =
2| 31 % 9R W 9vT HEA (26-30) 1 I S0
s U Tt T S e 1 H@en (FEE )

; FH H TFR
2001 20 40 50 30
2002 30 25 b0 70
2003 50 50 30 55
2004 60 70 40 35
2005 7 B85 70 25
2006 80 45 80 20
2007 o0 60 100 10

Sub questions

Question Number : 26 Question Id : 6154755847 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

9 2002 F9T 9 2005 T 59 T UH FogA F DA | THAA AT R 7

(1) 15.000 (2) 20,000
(3) 45.000 (4) 60,000
Options:

61547522801, 1
E1547522802. 2
B1547522803. 3
61547522804, 4

Question Number : 27 Question Id : 6154755848 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

E1547522805. 1
B1547522806. 2
61547522807, 3
61547522808, 4



Question Number : 28 Question Id : 6154755849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S8 FH T TR FAE0 TT5 T fahl = A F91 F 20 ATTwad T

(1) =My (2) EE
) T (4) = H T
Options:

B1547522809. 1
61547522810, 2
61547522811, 3
61547522812 4

Question Number : 29 Question Id : 6154755850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fohm = w Aege i1 fahi 1 wfav Fe Tk Fogza 1 g i g § sAtashag = ur?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

615475228131
61547522814, 2
61547522815, 3
E1547522816. 4

Question Number : 30 Question Id : 6154755851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

36 YA /AT F FgeT F AW Farse, fyedh faf @ =39 2001 ¥ 99 2007 F S0 w69 TREZ R

(1) ] (2) THY
(3) eEETm (4) == H U=
Options:

61547522817, 1
E15475228158. 2
E15475228148. 3
B1547522820. 4

Sub-Section Number: 3
Sub-Section Id: 615475260



Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154755852 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In computer related activities. which of the following 1s inappropriate for describing a
language translator?

(1) Assembler (2) Compiler
(3) Interpreter (4) Codec
Options:

61547522821, 1
E1547522822. 2
61547522822, 3
E1547522824. 4

Question Number : 31 Question Id : 6154755852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FOI | GElad Tatatad) § Sl 9 FHaeE & 9 & o Fetaiad 8 9 w1 99T 2 7

(1) e (2) FuTEed
(3) == (4) F=F
Options:

BE1547522821. 1
B1547522822. 2
61547522823, 3
61547522824, 4

Question Number : 32 Question Id : 6154755853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1z most suitable for being designated as Fourth Generation Language
(4GL)?

(1) ALGOL (2) dJava
(3) C (4) SQL
Options:

B1547522825. 1
B1547522826. 2
G1547522827. 3
E1547522828. 4

Question Number : 32 Question Id : 6154755853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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() TS @ =
(3 = (4) ™
Options:

B1547522825. 1
B1547522826. 2
B1547522827. 3
61547522828, 4

Question Number : 33 Question Id : 6154755854 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — one 15 labelled as Assertion (A) and other as Reason (R) :

Assertion (A) :  Smiffing may be used to steal data or information over a network.

Reasons (R) : Smiffing 1s a process of monitoring and capturing all data packets passing
through given network.

In the light of the above stated two statements. choose the correct option from the choices
given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 13 not the correct explanation of (A)
(3) (A) 13 true, but (R) 1s false
(4) (A) 1s false. but (R) 18 true
Options:
61547522829, 1
61547522830 2

61547522821, 3
61547522832, 4

Question Number : 33 Question Id : 6154755854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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7% (R): i uee e F we F e a1 S 9 F R SR 3 Fed ° o
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(1) (A =0 (R) ZET T& 2 #17 (R). (A) i 781 == 2

(2)  (A) 2R (R)3HI T= &, 4 (R). (A) i T& == 74 2
(3) (A =E 2, g (R) &=t 75 =

4) (ATE T, FR) TR E

Options:

61547522829, 1
615475228320 2
E1547522821. 2
61547522822 4

Question Number : 34 Question Id : 6154755855 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following terms 1s related to the digital learning environment for design?

(1) e-Vidwan
(2) e-Acharya
(3) e-Kalpa
(4) e-Yantra

Options:

61547522833, 1
61547522834 2
61547522835 2
1547522836 4

Question Number : 34 Question Id : 6154755855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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[y

{1} 3"_ Ao dl

2 3 IEdE

(3) A

4 -
Options:

E1547522833. 1
E1547522834. 2
61547522835, 3
61547522836, 4

Question Number : 35 Question Id : 6154755856 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following tools 1s a collaboration tool for providing wirtual classroom

environment?
(1) A-Lab
(2) A—-View
(3) A-—Tutor

(4) A-Learner

Options:

61547522837, 1
61547522838 2
61547522839 2
E1547522840. 4

Question Number : 35 Question Id : 6154755856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fr=fafaa 8 & =0 =31 79 (7)) 9 391 Fe = ge w60 v gEel 39 (29) B 7
1) -

(2) -

(3) U-cHet

(4) U=

Options:
E1547522537. 1



E1547522838. 2
B1547522839. 3
61547522840, 4

Question Number : 36 Question Id : 6154755857 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Methane. a greenhouse gas. 15 emitted from

(a) landfills

(b) construction debris
(c) wet lands

(d) e-waste

Choose the correct statements from the options given below :

(1) {a). (b) and (d) (2)  (a). (c) and (d)
(3) (a) and (c) only {4) (a)and (d) only
Options:

61547522841, 1
E1547522842 2
61547522842, 3
E1547522844. 4

Question Number : 36 Question Id : 6154755857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Meq, TF W9 w18E 79, AeeEd 5§ R ety B R

(a) E-;.-:!-:F-'{*':g
(b)  TAui FH * Ty
(¢) =AY

i

(d) -3 IEE

ety 7 8 w1 ey =91

(1) (a). (b) =T (d) (2} (a). (c) 3 (d)
(3)  =ae (a) FE () (4) =Fae (a) @R (d)
Options:

61547522841, 1
E1547522842. 2
BE1547522843. 3
B1547522844. 4

Question Number : 37 Question Id : 6154755858 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The share of which of the following sources of energy in electricity generation in India at
present 1s the least?

(1) Thermal (2) Solar and Wind
(3) Hydro (4) Nuclear
Options:

61547522845 1
61547522846, 2
E1547522847. 3
E1547522848. 4

Question Number : 37 Question Id : 6154755858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g 7 T seqeT # 9989H | Fefatad 7 B a0 |m 0 e e 20
(1) == (2) =R #HT T
{3} [ - I: "~ (4} 5 ; :

Options:

61547522845, 1
61547522846, 2
E1547522847. 3
E1547522848. 4

Question Number : 38 Question Id : 6154755859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Biosphere reserves are :

(1) area comprising terrestrial. marine and coastal ecosystems
(11) monitored by national governments
(1) areas where threatened amimals and plants are kept in their habitat

(tv)  wildlife sanctuaries

Choose the correct statements from the options given below :

(1) (1) and (11)
(2) (11) and (111)
(3) (i11) and (1v)
(4) (1) and (1v)

Options:
E1547522849. 1



B1547522850. 2
61547522851, 3
61547522852, 4

Question Number : 38 Question Id : 6154755859 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
(1) Y-9rfia, AMfeh AR a2adi arii-a a3k

1)  TEE TERE g i

(i) o TATH FEl THZ-TEG TS TEl 396 T=EE | T A7

(1v)  FHE AgETg

fafefiga el § 3 =81 e =4 -
(1) (1) ¥ (i)
(2) (i) 3T (iii)
(3)  (iil) # (iv)
4) (1) # W (i)
Options:
E1E47FEZ2E449 1
61547522850, 2

B1547522851. 3
B1547522852. 4

Question Number : 39 Question Id : 6154755860 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



A green building

(1) uses minimum amount of energy
(11) generates waste

(i11) consumes a lot of water

(1v) conserves natural resources

(v) creates space for healthy hiving

Choose the correct statements from the options given below :

(1) (1). (11) and (111)
(2) (1). (iv) and (v)
(3) (11). (111) and (v)

(4) (). (iv) and (v)
Options:
61547522552 1
E1547522854. 2
61547522555 2
61547522556 4

Question Number : 39 Question Id : 6154755860 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U TAE S3EE WA (0 fafee)
(1) a9 FA1 F IIE0 FAT A
(i)  ITafTE giEd w2

(i) = AaF F= F T F
(iv)  TTHfdE HETEAT 1 HE FA 7

(v) T SEA & AT T geA e 2

Friferfian fpet & @ F9 T
(1) (). (i) 37 (i)
@  @. Gv) (W)
(3) (). (i) H (v)

(4) (i), (iv) T (V)

Options:

61547522853, 1
61547522854 2
61547522855 2
E1547522856. 4

Question Number : 40 Question Id : 6154755861 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

National Disaster Management Authority 1s an agency of the Ministry of

(1) Jal Shakti (2) Home Affairs
(3) Earth Science (4) Housing and Urban Affairs

TEE A9 TEeH e Fetatad § O B g i o v 27

(1) == 3 @ T=wE
(3) gzl fawm (4) oTE™ 3R wEd =
Options:

61547522857, 1
E1547522858. 2
E1547522859. 3
B1547522860. 4

Yes



Question Number : 40 Question Id : 6154755861 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TP ATIET e e efatad 4 o R weres f o et 20

(1) == =1 2 T F
(3) g faEe (4) EE AT TR T
Options:

BE1547522857. 1
E1547522858. 2
61547522859, 3
B1547522860. 4

Question Number : 41 Question Id : 6154755862 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the distinctive feature of traditional method of Indian education from the following
st :

(1) Direct perception of truth’ — both as means and end
(2) Making everything on "Trust’
(3) Evolving own way of learning

(4) Following Nyava Philosophy with Deductive — Inductive Process

Options:

61547522861, 1
61547522862 2
61547522862 2
E1547522864. 4

Question Number : 41 Question Id : 6154755862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frterfign g=h 9 9 awdE fen 1 araier sone =+ e @ = g i

(1) TOeg T U9 Y e AR O & =9 o

(2)  TEavEE F YR W 5aHg 9T

(3)  ATE = A9 FOF I EAHEE F

(4)  TPTHATOIE - AR UG Ay = 39 e

Options:

61547522861, 1
E1S547522862. 2
615475225862, 5
61547522864, 4



Question Number : 42 Question Id : 6154755863 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following provides the overarching wvision that guides research into socially
relevant-areas?

(1) ARITA (2) IMPRINT
(3) NIRF (4) SWAYAM PRABHA
Options:

B1547522865. 1
B1547522866. 2
G1547522867. 3
61547522868, 4

Question Number : 42 Question Id : 6154755863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fratofas 4 @ #0 vF aAfdeas 2fe TR w2 S A ¥ W U6 S § 9 H AeEeE 2an
23
(1) T©RAEART (2) A uH O AR 7S A
(3) TH I AN TF (4) w=F T
Options:

61547522865, 1
E1547522866. 2
B1547522867. 3
B1547522868. 4

Question Number : 43 Question Id : 6154755864 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following, ‘One Nation. One Standard’ 1s mentioned as the ‘'mantra’ to ensure
national standards and quality.

(1) National Policy on Education — 1968
(2) National Policy on Education — 1986
(3) National Policy for Skill Development and Entrepreneurship — 2015
(4) NITI Aayog — Three Year Action Agenda — 2017—18 to 20192020
Options:
61547522869, 1
61547522870 2
61547522871, 2
61547522872 4

Question Number : 43 Question Id : 6154755864 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
51547522869. 1
61547522870, 2
1547522871 2
61547522872, 4

Question Number : 44 Question Id : 6154755865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Non-traditional teaching and learnming strategies lay emphasis on

(1) Students’ need based resource materials and learning standards
(11) Developing skills, attitude and values

(in) Promoting In-Box thinking process

(1v) Lecture based model

(v) Acquiring knowledge necessary to respond creatively

Select your answer from the following options :

(1) (1). (11) and (v) (2) (). (i) and (1v)
(3) (111), (1v) and (v) (4 (). v) and (v)
Options:

615475228731
61547522874, 2
BE1547522875. 3
B1547522876. 4

Question Number : 44 Question Id : 6154755865 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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fafafias faFeat 8 9 31 =1 =999 Fifav .

1) @), (D) 7R @) (2) (). (i) = (iv)

(3)  (iiD). (iv) T (v) @) @), (v) 377 (v)
Options:

B1547522873. 1
B1547522874. 2
61547522875, 3
61547522876, 4

Question Number : 45 Question Id : 6154755866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify values specially related to organizational ethos from the list given below :

(1) Team work 1n the approach

(11) Productivity of the tasks

(1) Changes in the global contents

(iv)  Financial security

(V) Humility in dealing with others’ concerns

(vi)  Technological resources

Choose your answer from the following options :

(1) (1), (1) and (v1)
(2) (1), (1v) and (v)
(3) (11). (111) and (v)
(4) (1), (11) and (v)

Options:

61547522877, 1
61547522878 2
61547522879 2
E1547522880. 4



Question Number : 45 Question Id : 6154755866 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

W= 31 = T= 4 ° faem =9 9 weTeRs At (Suim) # metia g 1 mem Fifw

(1) M | Ag-a%

(i) A = IEEEAT

(i)  Afvew HvE-—am § =2

(iv)  fa=i= Feem

(v)  =E A TEare & weE T T e

(vi)  TEEITE ,‘_' T TETA

feTiaa fTFeT 8 © 399 =1 =999 Firan

(1) (@), (i) =W (vi)
@ (i), (v) FR (v)
(3) (i), (iii) 37 (iv)
@) (). () AT (v)

Options:

61547522877, 1
61547522878 2
E1547522879. 2
61547522850 4

Sub-Section Number: 4
Sub-Section 1d: 615475261
Question Shuffling Allowed : Yes

Question Id : 6154755867 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension



Read the passage carefully and answer guestions from 46-50.

The pre-first world war era 1= really in a way well suited for an in-depth evaluation of
popular movements., as they were spontaneous and no more than. marginally affected
intelligentsia 1deologies. objectives or technigues. The limitations of such spontaneity are
fairly clear. Popular movements were directed usually against the immediate Indian
oppressor rather than the distant white superior. and so were often not consciously or
subjectively anti-imperialist. They tended to be fairly widely scattered in both space and
time, and were extremely volatile with different social forms of articulation interpenetrating
and passing over each other with bewildering ease. All this makes 1t rather difficult to accept
without some gualification the concept of Peasant Nationalism’™ as a coherent alternative to
elite patriotic 1declogies and movements, popular imtiative and autonomy were undoubted.
even remarkable at times. but. unlike middle class nationalism which does have certain
continuity. at the level of 1deoclogy at least, from the formulation of the drain of wealth theory
1n the 1870s onwards, the movement that have been considered were clearly fragmented. Yet
despite such limitations and crudities. popular unrest did anticipate much of middle class

nationalism in terms of 1ssues and forms of struggle. while its specific gains were at times

not inconsiderable. Forest rights. the burdens of rent. usury and land revenue. planter

exploitation and labour grievances were all themes taken over by middle class nationalism

later.

Sub questions

Question Number : 46 Question Id : 6154755868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What does the analysis of pre-first world war popular movements reveal?

(1) Intelligentsia’s influence on popular movement was less
(2) The movements were 1deological
(3) The movements had clear objectives

(4) Limited spontaneity
Options:
61547522551, 1
E1547522882. 2
61547522583 2
1547522854, 4

Question Number : 47 Question Id : 6154755869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The popular movements were

(1) against imperalists (2) against their masters
(3) consciously violent (4) time bound
Options:

61547522885, 1
61547522886, 2
E1547522887. 3
E1547522888. 4

Question Number : 48 Question Id : 6154755870 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the passage. the 1ssue with peasant nationaliam was

(1) a viable alternative to elite nationalism
(2) coherence and control

(3) lack of continuity

(4) quite timely

Options:

61547522889, 1
61547522890 2
61547522891, 2
61547522892 4

Question Number : 49 Question Id : 6154755871 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The pre-war popular movements were of

(1) uniform social form (2) 1nsignificant value
(3) middle class nationalism (4) specific gain at times
Options:

615475228593, 1
615475228394, 2
61547522835, 3
E15475228596. 4

Question Number : 50 Question Id : 6154755872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the author’s assessment of the popular movements?

(1) Some of the popular 1ssues were taken over by middle class nationalism
(2) It was bewildering and amusing
(3) It was remarkable and time-tested
(4) Pre-war popular unrest was anti-imperialist
Options:

B1547522897. 1
B1547522898. 2
61547522895, 3
E1547522300. 4

Question Id : 6154755867 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension
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Sub questions

Question Number : 46 Question Id : 6154755868 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o a7 I I3 % SARE AR % e gRT 9 e BhT E 7

(1) SR G T TG 1 THTE 90
(2) e d=Tes 9

(3) oSl % w92 32vE 9

(4) HiEd wEsar

Options:

61547522881, 1
61547522882, 2
61547522882 2
E1547522884. 4

Question Number : 47 Question Id : 6154755869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AR A

(1)  =E=ET F g 4 (2) T =t * fawg 9
(3)  FHEIHL =T 9 (4) TEg-sIg 9
Options:

BE1547522885. 1
B1547522886. 2
B1547522887. 3
61547522888, 4

Question Number : 48 Question Id : 6154755870 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

SIede & AIHR FF NZAIT HaHl gogr 74 917

() 96 TR 0 Ok S fe (2) AT s FEE
(3)  faadwar Fi == T
Options:

61547522889, 1
61547522830, 2
E15475228391. 3
BE1547522892. 4

Question Number : 49 Question Id : 6154755871 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-4 AFTE AREH 4,

(3) A=W A TgdE (4) THg wHT 9 e a@m
Options:

615475228593, 1
615475228394, 2
61547522835, 3
61547522836, 4

Question Number : 50 Question Id : 6154755872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(2) I faerEnl o e )
(3) I fafsre R g7 i F+6F W = 9
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Options:

61547522897, 1
61547522898, 2
61547522899 2
61547522900 4

PART II Tribal and Regional Language Literature

Section Id : 61547580
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 615475262
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154755873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Akhand Jharkhand mein ab Bhela Bihan Go” Who has written this song?

(1) Dr. Jagadish Trigunayat (2) Shivanath Pramamk
(3) Mukund Navak (4) Dr. Ram Dayal Munda
Options:

61547522901, 1
615475223902, 2
61547522303, 3
E1547522904. 4

Question Number : 51 Question Id : 6154755873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547522901, 1
615475223902, 2
61547522303, 3
E1547522904. 4

Question Number : 52 Question Id : 6154755874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who has authored “Mundari Path™?

(1) Mangal Singh Munda (2) Ram Dayal Munda
(3) Subhash Munda (4) Soma Munda
Options:

615475223905, 1
61547522906, 2
E15475223907. 3
61547522308, 4

Question Number : 52 Question Id : 6154755874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“FIEH B A A R Y

(1) == &= gos (2) W =TI gUa
(3)  [um gUat (4) == gUeT
Options:

61547522305, 1
E1547522906. 2
B1547522907. 3
615475223908, 4

Question Number : 53 Question Id : 6154755875 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who 1s the author of the book “Taal Manjar1™?

(1) Dr. Vishwanath Prasad (2) Rajendra Prasad Mahto
(3) Dr. Vrindavan Mahto (4) Raja Upendra Nath Singh Dev
Options:

B154752290%8. 1



E1547522910. 2
61547522911, 3
B154752291%. 4

Question Number : 53 Question Id : 6154755875 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

i il i - i_;r?
dled Hai] f—_!}—"‘l'—h =Rkl Il =

(1) =i fvany e (2) T TEE WEAl
(3) =T g=EA HEal (4) T 3= 1Y TOE =9
Options:

615475223909, 1
615475223910, 2
E1547522911. 3
B1547522912. 4

Question Number : 54 Question Id : 6154755876 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following crafts 1s a special feature of Jharkhand?

(1) Stone craft (2) Mask craft
(3) Ledera craft (4) Fresco craft
Options:

615475229131
61547522914, 2
61547522915 3
E1547522916. 4

Question Number : 54 Question Id : 6154755876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FH-T71 {9779 TEvs #1 v AnE Teae e 27

(1) & foew 2 HaEe e
(3)  wigm e (4) fafs foeg
Options:

615475229121
E1547522914. 2
E1547522915. 3
B1547522916. 4

Question Number : 55 Question Id : 6154755877 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following Frescos 1s the most popular in Santhal Pargana?

(1) Jaadu Patia (2) Sohrai wall painting
(3) Kohbar (4) Mask
Options:

615475229171
61547522918, 2
E1547522918. 3
B1547522920. 4

Question Number : 55 Question Id : 6154755877 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TS GO | FA-T1 T4 o Tae w9 e B 7

(1) =g die= (2) =T faf
(3)  =EEw (4) mEE
Options:

615475229171
61547522918, 2
61547522919, 3
E1547522920. 4

Question Number : 56 Question Id : 6154755878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the correct option of earthen pots 1in the sequence from small to big?

(1) Earthen lamp, Chukiya, Surahi, Pitcher
(2) Chukiva, Surahi, Earthen lamp. Pitcher
(3) Surahi, Pitcher, Earthen lamp. Chulkiya

(4) Pitcher. Earthen lamp, Surahi. Chulaya
Options:

154752209211

61547522922 2

B1547522923 3

61547522924 4

Question Number : 56 Question Id : 6154755878 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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() ==, I, g, O (2) g, gErE, &, g9t
3 =, T, g, g (4) ==, ZF, FOA, T

Options:



B1547522921. 1
B1547522922 2
B1547522923. 3
61547522924, 4

Question Number : 57 Question Id : 6154755879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the correct option of ornaments worn in the neck

(1) Hanszh, Chandwa. Thosa, Sikri
(2) Panyasi, Payal, Bichhia, Jhutia
(3) Jhutia, Hansli, Bichhia, Sikr

(4) Katri, Bera. Chandwa. Panvari

Options:

61547522925, 1
61547522926 2
61547522927, 2
61547522928 4

Question Number : 57 Question Id : 6154755879 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) =oel, ge=ar, 3, o
(2) i, aEe, it gl

[3} uﬁ_’ ~r;.;,-l:r~.'rxﬁ_'.r,‘!.~

(4) FAl, T, ==, T
Options:
61547522925, 1
61547522926, 2
61547522927, 3
61547522928, 4

Question Number : 58 Question Id : 6154755880 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following statements 1s correct with respect to aesthetics?

(1) Art, Artistry and aspects of art are not used for aesthetics
(2) The word aesthetics bears singular meaning
(3 Dictionaries too give only one meaning of the word aesthetics

(4) The word Aesthetics 1s used to denote beauty
Options:
61547522929 1
E1547522930. 2
E154r5224931. 2
61547522932 4

Question Number : 58 Question Id : 6154755880 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FA1 % [T FA—H1 HAT TE 2 7

(1) Hi==4 = foT0 Fell, FoATcaSHal, FHe9d H1 S0 T8 5RET AT 2
(2) =T T T 7

(3) T2 THiT % FFER H FAT H T F7Y w67 2

(4)  He=wal + o Fen 1 HEEn w5 2|
Options:
15475229291
1547522930 2
1547522931 2
E1547522932. 4

Question Number : 59 Question Id : 6154755881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Whiach of the following statements 1s correct with respect to Kohbar art?

(1) The Kohbar art causes decline in producing progenies

(2) The Kohbar art facilitates the decoration of the room where the first might of
marriage (suhag raat) 1s celebrated

(3) The sadans of Hazambag do not hike Kohbar art
(4) Cow dung. paddy straw. soil are not used 1n the Kohbar art
Options:

61547522933, 1
61547522934, 2
61547522935, 3
E1547522936. 4



Question Number : 59 Question Id : 6154755881 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FAfeEa O FiEe Fel & o0 FH-01 FY9 T8 2 7

(1)  =Es Fell ¥ Tad-9ig H &= & 2

: MCQ Option Shuffling: No Display Question Number : Yes
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oSy
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Options:

61547522933, 1
61547522934 2
61547522935 2
E1547522926. 4

Question Number : 60 Question Id : 6154755882 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following 1s correct match of the

List I
(Caste)
(1) Munda
(2) Asur
(3) Ho

(4) Bathum

Options:

61547522937, 1
61547522938 2
61547522929 2
E1547522940 4

Question Number : 60 Question Id : 6154755882 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

: MCQ Option Shuffling : No Display Question Number : Yes

caste with 1ts priest?

List IT
(Priest)
Baiga
Deur1

Pahaan
Dehri

: MCQ Option Shuffling : No Display Question Number : Yes

-1 T -11
(=f) (=)
(1)  FUa &M
2 I EEM
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Options:

61547522937, 1
61547522938 2
E1547522929 2
61547522940, 4

Question Number : 61 Question Id : 6154755883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Sosobonga” 1s the ballad of the language

(1) Panchpargania
(2) Khortha
(3) Mundanr

(4) Kurux
Options:
615475229411
61547522942 2
61547522943, 3
615475223944 4

Question Number : 61 Question Id : 6154755883 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) T

(2)  @ra

(3)  HUSAI

(4) F3d
Options:

E1547522941. 1
B1547522942 2
B1547522943. 3
61547522944, 4

Question Number : 62 Question Id : 6154755884 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who has defined art in the following manner?

“Every great art 1s an expression of ecstasy of humans for the divine creation”
(1) Ruskin

(2) Sopenheur

(3) Tolstoy

(4) Aristotle

Options:

61547522945, 1
61547522946 2
E1547522947. 2
61547522948, 4

Question Number : 62 Question Id : 6154755884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(4) HIH]
Options:
61547522945 1
61547522945 2
61547522947 3
61547522945 4

Question Number : 63 Question Id : 6154755885 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

To which sect the following mantra 1s attributed?

“Tana Baba Tana
Tan Tun Tana

Kasa Pitar Mana”

(1) Nagmatia (2) Kabir Panth
(3) Taana Panth (4) Vishnu Panth
Options:

E1547522945 1



E1547522950. 2
61547522951, 3
B154752295%. 4

Question Number : 63 Question Id : 6154755885 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

g o9 g o9 o gefam 27

T2 = 2T

(1)  FFEfE (2) FERTY

(3) ZATUY (4) T Uy
Options:
61547522949, 1
61547522950 2
E1547522951. 2
61547522952 4

Question Number : 64 Question Id : 6154755886 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Jharkhand the word Kothi 1s used to denote

(1) collection of food grains (2) water conservation
(3) collection of dress and ornaments (4) collection of cow-dung
Options:

B1547522953. 1
61547522954, 2
61547522955 3
61547522956, 4

Question Number : 64 Question Id : 6154755886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TAETE | FEC 3990 s oo e S an?

(1) AT TR (2) THI-TuE

(3)  TETYI-TUR (4) TE-TUE

Options:



B1547522953. 1
61547522954, 2
61547522955, 3
61547522956, 4

Question Number : 65 Question Id : 6154755887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following articles 1s almost extinet?

(1) Earthen lamp

(2) A pan used to bake Peetha-rot1
(3) Tuiya Lota (Nerua Lota)

(4) Surahi
Options:
61547522957, 1
E1547522958. 2
61547522959, 5
61547522960 4

Question Number : 65 Question Id : 6154755887 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FefeTiad TmaE § @8 99 -3 T 2

() den (2) - T F A
(3)  Z=A AR (FE ) (4) TE

Options:

E15475228957. 1
B1547522958. 2
B1547522959. 3
B1547522960. 4

Question Number : 66 Question Id : 6154755888 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The name of the editor of the book titled “Jharkhand k1 Paramparik Kalayan” 1s

(1) Dr. Ram Prasad
(2) Dr. B. P. Keshan
(3) Dr. Giridhar Ram Gaunjhu ‘Girira)’ and Shakuntala Mishra

(4) Dr. Buwaneshwar Anuj

Options:



B1547522961. 1
B1547522962. 2
B1547522963. 3
E1547522964. 4

Question Number : 66 Question Id : 6154755888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 1, U9 9978

[ o) fa

(2) s ¥ FEA
(3) =i fifardt Tm iy “Fiiws” v e e

(4) =T YT oA
Options:

61547522961, 1
61547522962, 2
61547522963 3
61547522964 4

Question Number : 67 Question Id : 6154755889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The vear of publication of the book titled, “Jharkhand Ki Paramparik Kalayen” 1s

(1) 2015 (2) 2016
(3) 2017 (4) 2018

Options:
B15475224965,

E154752296E,
BE1547522967.
B1547522968.

[ N

Question Number : 67 Question Id : 6154755889 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 2015 (2) 2016
(3) 2017 (4) 2018
Options:

E1547522965. 1
E154752296E. 2



B1547522967. 3
B1547522968. 4

Question Number : 68 Question Id : 6154755890 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The period of construction of ‘Tinkonia Kumba’ 1s

(1) Stone Age (2) Prmmtive Age
(3) Middle Age (4) Modern Age
Options:

615475229645, 1
G1547522970. 2
E1547522971. 3
BE1547522972. 4

Question Number : 68 Question Id : 6154755890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

I Far F1 a0 e Fegs o Heid 77

(1) RIE e (2) =ATiEFT
(3) TR (4) TgEF FA
Options:

615475229649, 1
61547522970, 2
E1547522971. 3
B1547522972. 4

Question Number : 69 Question Id : 6154755891 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who of the following 1s the author of the book titled “Aadidharam™?

(1) Dr. Asunta Tigga

(2) Mangal Singh Munda

(3) Dr. Ram Dayal Munda and Ratan Singh Manala
(4) Pyari Tuti and Budu Babu

Options:

61547522973, 1
61547522974 2
61547522975 2
1547522976 4

Question Number : 69 Question Id : 6154755891 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

T B AU YEaE o oEE i 8 Y

(1) =M. g fam (2) w= faE goa
(3) = T = qUSl AN T aE e (4) =Rl 23 37 °9g 919
Options:

615475229731
E1547522974. 2
61547522975 3
B1547522976. 4

Question Number : 70 Question Id : 6154755892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who 1s the author of the book titled “Jharkhand ki Lok Chitrakala™

(1) Dr. Harendra Prasad Sinha (2y Nirmala Putul
(3) Shekhar (4) Dr. Badari Prasad
Options:

B1547522977. 1
B1547522978. 2
G1547522979. 3
E1547522380. 4

Question Number : 70 Question Id : 6154755892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
NS i ARSI AR S R 7

(1) =7 5t TETE T (2) =T g
(8 = (4) =1 = T

Options:

61547522977, 1
61547522978 2
61547522979 2
61547522980 4

Question Number : 71 Question Id : 6154755893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The term used for Children’s ear-piercing ceremony in Khariva community 1s called

(1) Laktho Hardia (2) EKhekhan
(3) Barahi (4) Latur Toyaki

Options:



BE1547522981. 1
B1547522982. 2
B1547522983. 3
61547522954, 4

Question Number : 71 Question Id : 6154755893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Gfsa Tq2E | o=l F FAde] TN T T Fad 27

.

(1) @3l 7z (2) @@
(3) = (4) =TT A

Options:

61547522981,
£1547522982.
E1547522983.
61547522984,

o IR

Question Number : 72 Question Id : 6154755894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who of the following is called “Dishom Guru™?

(1) Tilka Manjhi (2) Chand Bhairav
(3) Shibu Soren (4) Binod Bihar Mahto
Options:

61547522985, 1
E1547522986. 2
B1547522987. 3
B1547522988. 4

Question Number : 72 Question Id : 6154755894 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

B [ B o AR, = =
=H o = e T Tl ™ &/

(1) e = (2) =iz
(3)  fog @A (4) o= foEr g=ar
Options:

61547522985, 1
E15475229586. 2
E1547522957. 3
E1547522988. 4



Question Number : 73 Question Id : 6154755895 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who termed ‘Bharat Bhumi' as ‘Mahamanav Samudra’™

(1) Ramai Pandit (2) Mukund Raj
(3) Kavindra Rabindra (4) Mahaprabhu Shankardeva
Options:

BE1547522989. 1
B1547522930. 2
615475229581, 3
E154752293%2. 4

Question Number : 73 Question Id : 6154755895 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=3

YA -Yfa = T BHE-Tgg e

(1) 95 uf=q (2) TF=TH
(3) =iz Eig (4) H=TTY WHEA
Options:

E1547522959. 1
E15475229380. 2
E15475229391. 3
B1547522992. 4

Question Number : 74 Question Id : 6154755896 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The influence of Vaishnaism on Sadans 1s attributed to

(1) Shankaracharya (2) Tulsidas
(3) Kabirdas (4) Chaitanva Mahaprabhu
Options:

BE1547522993. 1
B1547522954. 2
61547522985 3
E1547522936. 4

Question Number : 74 Question Id : 6154755896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) T (2 deEEE
(8) e (4) =a= 7EIY
Options:

E15475229593. 1
E1547522994. 2
61547522985 3
G15475229396. 4

Question Number : 75 Question Id : 6154755897 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What are the names of parents of Fanimukut Rai1?

(1) Parvati — Pundarik (2) Madara Rani — Madara Munda
(3 Sutiva Rami — Sutiya Munda (4) Nanki— Kanka
Options:

B1547522997. 1
61547522988, 2
615475229949, 3
E1547523000. 4

Question Number : 75 Question Id : 6154755897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FOHFZ T o AAT-T04T = A 2

{1} ! r:r [ai —._:__:H_"Fﬁ = {2-} T THJ:[_W* .Jw-l <
(3)  HfFE THI-FG=T qUST (4) TR
Options:

615475229571
6154752293958, 2
61547522999, 3
E1547522000. 4

Question Number : 76 Question Id : 6154755898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following practices 1s in vogue 1n Sadan women on the line of tribal women?

(1) Knitting mats (2) Tattooing
(3) Wearing Painjans (4) Sporting Kantara Khopa
Options:

E1547523001. 1



E1547523002. 2
61547523003, 3
61547523004, 4

Question Number : 76 Question Id : 6154755898 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
sATfeaTt AiEenat it TF Tem gtaenet # ff e R reen wmE e

(1) == T (2) =
(3) 5 gEA (4) AT @7 ST
Options:

E1547523001. 1
B1547523002. 2
61547523003, 3
61547523004, 4

Question Number : 77 Question Id : 6154755899 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following led the Taana movement?

(1) Veer Budhu Bhagat (2) Jatra Taana Bhagat
(3) Kartik Oraon (4) Kodal Oraon
Options:

E1547523005. 1
E1547523006. 2
B1547523007. 3
61547523008, 4

Question Number : 77 Question Id : 6154755899 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
2T T2 & TaT A R T

(1) drRag 9™ (2) SR T
(3)  =IdF 4 (4) Fza 7
Options:

E1547523005. 1
E1547523006. 2
B1547523007. 3
61547523008, 4

Question Number : 78 Question Id : 6154755900 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who of the following 1s the propounder of ‘Abua Disum Abua Raj™?

(1) Birsa Munda (2) Kande Munda
(3) Dr. Ram Dayal Munda (4) Karia Munda
Options:

61547523005, 1
61547523010, 2
61547523011, 3
E1547523012. 4

Question Number : 78 Question Id : 6154755900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘I f3HH S T F WA FefiEd § wE A

(1)  foren gus (2) S qUs
(3) 1. T I gUsl (4) Tz qUs
Options:

61547523005, 1
61547523010, 2
61547523011, =
E1547523012. 4

Question Number : 79 Question Id : 6154755901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
As per Dr. B.C. Sharma what 1s the correct sequence of the Tribal Arena Act (Akhrakala)?

(1) playving mandar, playing flute. dance, merriment

(2) playving flute, dance. merriment. playing mandar

(3) dance, merriment, playing mandar, playing flute

(4) mermment, plaving mandar, plaving flute, dance
Options:

615475230131
61547523014, 2
61547523015, 3
BE1547523016. 4

Question Number : 79 Question Id : 6154755901 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=0, 1L H. I % ATAN AN S FeT B HR AT T A7

(1)  =fex & 39, g F1 5=, T4, T

(2) =gl F aA, I, W, 9t f 3 E

(3) T4, WAL, B W A, SE FH A

Options:

615475230121
61547523014 2
61547523015 3
615475232016 4

Question Number : 80 Question Id : 6154755902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

As per Kapildev Dwivedi what 1s the correct sequence of Indo European family of Language

(1) Drawaid. Italian, German, Greek. Indo-Iranian
(2) Italian. German. Greek. Indo-Iranian. Dravid
(3) Indo-Iranian, Greek, German, Italian, Dravid

(4) German. Greek, Indo-Iranian, Dravid, Italian
Options:
15475220171
1547522018, 2
1547522019 2
61547522020 4

Question Number : 80 Question Id : 6154755902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  =f=s, soriees, S91, Ui, 9rd-stH
(2) Al E R ST, Wi, 9 EE-I_QI-] 1, ZfE
(3)  wna-stehl, i, smifs, et sfhs

(4) oI, Ui, Sra-H, s, e
Options:
61547523017 1
E1547522018. 2
E154Y523019 3
61547523020 4



Question Number : 81 Question Id : 6154755903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

As per the census of 1971 in which of the following districts the population of asurs 1s the
highest?

(1) Singhbhum (2) Palamau
(3) Lohardaga (4y Gumla
Options:

61547523021, 1
E1547523022. 2
E1547523023. 3
E1547523024. 4

Question Number : 81 Question Id : 6154755903 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1971 =i FFFUET § S il FHEEE geH SAiaE T e 5 2 7
(1) et (2) UMW
(3)  =ETEm (4) THET
Options:

BE1547523021. 1
B1547523022. 2
B1547523023. 3
61547523024, 4

Question Number : 82 Question Id : 6154755904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

To which religion ‘Mahayvana' belongs?

(1) Jainism (2) Budhism
(3) Chrstianity (4) Hindu
Options:

61547523025 1
E1547523026. 2
B1547523027. 3
B1547523028. 4

Question Number : 82 Question Id : 6154755904 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



e T 99 o getag 27

(1 =4 (2) wig
(3)  =oTE (4) T&g
Options:

B1547523025. 1
B1547523026. 2
E1547523027. 3
61547523028, 4

Question Number : 83 Question Id : 6154755905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s a work by Dr. Ram Dayal Munda?

(1) Nai1 Met1 (2) Chicago Shahar Bhar
{3) Mor Gaon Kar Akhra (4) Nagpurak Reejh Rang
Options:

E1547523029. 1
E15475230230. 2
E1547523021. 3
B1547523032. 4

Question Number : 83 Question Id : 6154755905 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=0 57, T 4T gUT I wH-H T 2 7

(1) TS0 (2) T o 9
(3)  HW g W @ (4) TP {F T
Options:

E1547523029. 1
61547523030, 2
E1547523021. 3
B1547523032. 4

Question Number : 84 Question Id : 6154755906 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who of the following is called ‘Jharkand Ka Dharti Aba™?

(1) Dr. Ram Dayal Munda (2) Kara Munda
(3) T. Muchi Rai Munda (4) Birsa Munda

Options:



BE1547523033. 1
61547523024, 2
61547523035, 3
E1547523036. 4

Question Number : 84 Question Id : 6154755906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=4 T T IEETE 1 SeE] SIET FE T R Y

."

(1) =1, 79 24714 JUsl (2) =iz gUET
(3) 2. Tl TF gual (4) TemET gus
Options:

BE1547523023. 1
E1547523024. 2
B1547523035. 3
51547523036, 4

Question Number : 85 Question Id : 6154755907 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The compilation and edition of “Panchpargamia Maildhkalin Kab: ar Unkhar Rachna” is
attributed to

(1) Dr. H.N. Singh (2) Dr. Nand Kishore Singh
(3) Dr. Vrindawan Mahto (4) Parag Kishore Singh
Options:

E1547523037. 1
E15475230238. 2
E1547523039. 3
51547523040, 4

Question Number : 85 Question Id : 6154755907 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“UFUATHIT A 8 37 398 = F T Ud e [od a7

(1) =i = w. fE@E (2) 3. 9= e e
(8) =1 g5 mEAl (4) T R i
Options:

B1547523037. 1
E1547523038. 2
61547523039, 3
E1547523040. 4

Question Number : 86 Question Id : 6154755908 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What type of fizure of speech (Alankar) 1s present in Kurmali in the following part of a
poem?

“Papiaa Pukari Piaa

Hudki Uthtau Jiaa”
(1) Upama Alankar (2) Utpreksha Alankar
(3) Shlesha Alankar (4) Anupras Alankar

Options:

61547523041, 1
61547523042 2
61547523043 =2
61547522044 4

Question Number : 86 Question Id : 6154755908 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FAT & Fefeiagd T R s O getad 27
“grig e IRl e

(1) 3991 A= (2) ScuET AP
(3) 7o IR (4) =HTHE TAFR

Options:

61547523041, 1
61547522042 2
61547522042 5
61547522044 4

Question Number : 87 Question Id : 6154755909 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who of the following 1s a Mundari lyrmcist?
(1) Mansidha Badayud
(2) Mangal Singh Munda

(3) Budu Babu
(4) Bhaiyva Ram Munda

Options:

61547523045, 1
61547523046, 2
61547522047 2
E1547522048. 4

Question Number : 87 Question Id : 6154755909 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



E:Fi:f H IIHU: ﬁ Jhi GEAR q#]:f T}-?

(1) T g5 5e
(2) W= E gUe
@) 939y

(4) T gust

Options:
61547522045 1

E154752304E. 2
E1547523047. 3
515475230458, 4

Question Number : 88 Question Id : 6154755910 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who 1s the first editor of an anthalogy of poems “Nai Meti Nagpur1™?

(1) Dr. Trivera Nath Sahu
(2) Dr. Umesh Nand Tiwari
(3) Dr. Savita Keshm

(4) Dr. Nand Kishor Sahu

Options:

61547523049, 1
61547523050 2
61547522051, =2
E1547522052. 4

Question Number : 88 Question Id : 6154755910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

5 I AT AT TR F TR TOEE A 57
(1) = FeEvl 91y mg

(2) 3. 3w F5 faar

(3) =i = Fwd

4) =M. 7= Feom A

Options:
61547523049, 1
61547522050 2

E1547523051. 3



B1547523052. 4

Question Number : 89 Question Id : 6154755911 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What type of a novel 1s the Nagpur short novel titled ‘6 Pugar'?

(1) religious
(2) cultural
(3) political
(4) social

Options:

61547523053, 1
61547522054 2
61547522055, 5
61547522056 4

Question Number : 89 Question Id : 6154755911 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT =Y STE PR TR TR W 0 27 el fasen g
{1} P ,

(2)  HEHGE

(3)  TEHIT

(4) EIEHEED

Options:

£1547523053. 1
61547522054, 2
61547522055 5
61547523056, 4

Question Number : 90 Question Id : 6154755912 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

"‘Kram Parinaam’ 1s the work of which of the following Onmya Litterateur?

(1) Pt. Neelkantha
(2) EKuntala Kumar
(3) Laxmikant Mahapatra

(4) Padma Chandra Patnaik

Options:



B1547523057. 1
61547523058, 2
61547523055, 3
E15475230680. 4

Question Number : 90 Question Id : 6154755912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
w1 gy’ g e ofemsr F1 = 27

(1) 9. et 03
(2) Frdedl FHMAI
(3) @& gETT

(4) T2 T3 JAEF

Options:

61547523057, 1
61547522058 2
E1547522059 =2
61547522060, 4

Question Number : 91 Question Id : 6154755913 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who 1= attributed to the evolution of Seript in Kurux language?

(a) Dr. Narain Oraon developed ‘Tolong Sik1’

(b) Pt. Raghunath Murmu developed ‘Oal Chika

(c) Lako Bodra developed Varang Chatt1’

(d) ‘Kuruk Bharati’ was developed by Ananti Jeba singh

Choose the correct option :

(1)  (a) and (b)
(2) (b) and (c)
(3) (a) and (d)

(4) (a) and (c)
Options:
E1547523061. 1
61547523062 2
E1547523063. 3
£1547523064. 4



Question Number : 91 Question Id : 6154755913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
F3@ 9 7 Tt = Hai-=ar 61 77
(a) T T ST, AR S0A % R A T A
(b) ‘s foehr . T qT % g fERiEA S S 2
(c) arT At @R 9= & g A #i e
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== fou Tu fasedt 9 9 wE I g

(1)  (a) =W (b)
(2)  (b) ¥ (0
(3)  (a) ¥ (d)

4)  (a)# T (o)

Options:

61547523061, 1
1547522062, 2
61547523063 2
61547523064, 4

Question Number : 92 Question Id : 6154755914 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



What are the true aims of ‘'Kumba’ and ‘Machan'?

(a) ‘Kumba’ 1s usually constructed on a temporary basis
(b) The wood of ‘Kumba’ 1s very strong
(c) ‘Machan’ 1s also usually constructed on temporary basis

(d) Livestocks cannot be seen properly from a ‘Machan’

Choose the correct option :

(1)  (a)and (b)
(2) (a) and (c)
(3)  (b) and (c)
(4) (c) and (d)

Options:

1547523065, 1
E1547522066. 2
61547523067, 5
61547522068, 4

Question Number : 92 Question Id : 6154755914 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(@)  FE UM SR A 9 S I A
(b)  FE FI FHEI qgd T wdl A
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(1)  (a) T (b)

(2 (a) 3 ()

(3)  (b) 3T (¢)

(4 (o) 1 (@

Options:



BE1547523065. 1
B1547523066. 2
B1547523067. 3
E1547523068. 4

Question Number : 93 Question Id : 6154755915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Dr. B.C. Sharma

(a) ‘Handia® 1s a ‘Prasad’ of Bonga and 1its consumption 1= meant for doing away with

orief. and anxiety and tiredness

(h) Its consumption invigorates life.
(c) Its addiction does not bring an end to well being and happiness
(d) Handia 1= unnecessary for observing any rituals

Choose the correct option :

(1) (a) and (c)
(2) (a) and (b)
(3) (a) and (d)

(4) (b) and (d)
Options:
61547523069 1
61547523070, 2
61547522071 2
E1547523072. 4

Question Number : 93 Question Id : 6154755915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)  FE-YFA HeH F fou 9 =1 vEe A 2
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(1) {a) 1 (c)

(2) (a) 317 (b)

(3) (a) 9F (d)
(4)  (b) 3 (d)
Options:

615475230845, 1
E1547523070. 2
61547523071, 3
B1547523072. 4

Question Number : 94 Question Id : 6154755916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Ranendra

(a) Jharkhand has i1ts own characteristic folk-culture

(b) It overcomes nature

(c) It strikes harmony with nature

(d) This culture 1z not woven around their collective toils and diligence

Choose the correct option :

(1) {a) and (b)
{2) ib) and (c)
(3) ic) and (d)

(4) {a) and (¢)

Options:
1547523073 1



B1547523074. 2
B1547523075. 3
B1547523076. 4

Question Number : 94 Question Id : 6154755916 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

(a)  ZE@Evs i A fafere SH-FeH 2
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(1) (a) R (b)
(2) (b) #H (c)
(3) (c) T (d)
(4)  (a) W (c)
Options:

E1547523073. 1
61547523074, 2
E1547523075. 3
BE1547523076. 4

Question Number : 95 Question Id : 6154755917 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who have compiled the book entitled "Leel Khor'Aa Khekhel” contaiming therein the
anthology of Kurux folk songs?

Titled “Leel Khor' Aa Khekhel”

(a) W.G. Archer compiled the anthology

(b) Jagadish Trigunayvat compiled the anthology
(c) Dharmadas Lakra compiled the anthology

(d) S.C. Roy compiled the anthology

Choose the correct option :

(1)  (a) and (b)
(2) (a) and (c)
(3) (b) and (d)

(4)  (c)and (d)
Options:
61547523077 1
E1547523078. 2
E154Y523079 3
61547523080 4

Question Number : 95 Question Id : 6154755917 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  (a) = (b)
2)  (a) 3 (¢)
(3)  (b) HT (d)

(4)  (c) 3 (d)

Options:

61547523077, 1
61547523078, 2
615475230793 2
E15475220280. 4

Question Number : 96 Question Id : 6154755918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to Gulab Rax

(a) A novel depicts happiness and sorrows. jealousy and envy. ups and downs of
characters etc
(b) A novel 1s not the marror of life

(c) We may understand the characters of a novel. but we cannot understand the factors

of life 1n equal terms

(d) Both history and novel deal with the future

Choose the correct option:

(1) (b) and (c)
(2) (a) and (c)
(3) (c) and (d)
(4) (a) and (d)

Options:



E1547523081. 1
B1547523082. 2
B1547523083. 3
61547523054, 4

Question Number : 96 Question Id : 6154755918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (b) #©T (c)
(2)  (a) #T (0)
(3)  (c) 3T (d)

(4)  (a)# T (d)

Options:

£1547523081. 1
E1547522082. 2
61547522082 o
61547522084, 4

Question Number : 97 Question Id : 6154755919 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following statements are correct?

(a)

(b)

(c)

(d)

Great men have their significant contribution in shaping and building of the age and
the society

The future generation takes inspiration from the life and sacrifice of great men and
martyrs and builds their bright future based thereon

The unity of Jharkhand does not reflect sympathy and bonafides in the favour of
truth

The glorious heritage of Jharkhand cannot be protected at any cost

Choose the correct option :

(1)
(2)
(3)
(4)

Options:

(a) and (b)
(b) and (c)
(a) and (c)
(b) and (d)

61547523085, 1
E1547523086. 2
BE1547523087. 3
61547523088, 4

Question Number : 97 Question Id : 6154755919 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  (a) 7 (b)
(2)  (b) #T (©)
(3) (a) 7 (c)

4)  (b) =W (d)

Options:

£1547523085. 1
E1547522086. 2
61547522087, o
61547523088, 4

Question Number : 98 Question Id : 6154755920 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to Shekhar :

(a) Man endeavours to embellish hife with beauty

(b) It 1s reflected 1n various paintings in Jharkhand

(c) It will be just to consider tribals inferior from the point of view of arts and crafts

(d) Even today instances of decorating and embellishing human bodies with colours in

tribal communities are available there evervwhere

Choose the correct option :

(1)  (a) and (b)
(2) (b) and (c)
(3)  (a)and (c)
(4) (b) and (d)

Options:



BE1547523089. 1
61547523080, 2
615475230381, 3
E154752303z2. 4

Question Number : 98 Question Id : 6154755920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  (a) 37 (b)
(2)  (b) # ()
(3) (a) ¥ (¢)

(4)  (b) 3 (d)
Options:
£1547523089. 1
61547523090, 2
61547523091, 3
51547523092, 4

Question Number : 99 Question Id : 6154755921 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Feelingz are associated with our knowledge for example :

(a) to be displeased to see a friend
(b) to be anguished to see the atrocities of an enemy
(c) to be astonmished to see a strange incident

(d) to feel pity seeing the beloved

Choose the correct option :

()  (b) and ()
(2) (b) and (d)
(3) (c) and (d)
(4) (a) and (d)

Options:

61547523093, 1
61547523094, 2
615475220395 =2
E1547522096. 4

Question Number : 99 Question Id : 6154755921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (b) 317 (c)
(2)  (b) #FR (d)
(3) (c) #R (d)
(4) (a) #R (d)

Options:



E1547523083. 1
61547523084, 2
61547523085 3
E1547523036. 4

Question Number : 100 Question Id : 6154755922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Dr. Shailesh Pandit's

(a) The land of Jharkhand 1s devoid of anv metals and minerals and 1t 1s thoroughly

beautiful with its forests. streams and mountains

(b) Thiz land attracts the whole world with the sound of its ‘anklets’
(c) Whoever comes to this land. fails to belong to 1t
(d) Even after a person returns from this land, s heart hears the resounding sound of

drum and ‘mandar’

Choose the correct option :

(1) (a) and (b)
{2) {a) and (e)
(3) (c) and (d)

(4) (b) and (d)
Options:
61547523097, 1
61547523098 2
615475230599 3
61547522100, 4

Question Number : 100 Question Id : 6154755922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) (a) 3 (b)
(2)  (a) F (c)
3) (o) = (d)

4  (b) F (d)
Options:
1547522097,
15475220598,
15475220599,
1547522100,

[ N

Question Number : 101 Question Id : 6154755923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Dr. B.C. Sharma

(a) Sadans gzet leszons from folk songs
(b) They shed light on the shadowy pages of history
(c) They do not reveal their psychological depth

(d) It appears to be the 1mitation of tribes

Choose the correct answer :

(1)  (a)and (b)
(2)  (c) and (d)
(3)  (a)and (c)
(4) (b) and (d)

Options:
615475221011



E1547523102. 2
61547523103, 3
61547523104, 4

Question Number : 101 Question 1d : 6154755923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

31T, Hi. TEl % S

(a) =G H A | e med 2

(b)  SHH Sfoem % gue T8 F T Hea 2

(¢)  =HH THETTHEF T=0E # aa1 B 75 S|

e I 5 et
(d) Tz FAANTIT Tl Ahad Jdid 201 &

e o e feed 9 | wE I 9T

(1) (a) 31 (b)
(2) (c) AT (d)
(3)  (a) ¥ (c)
(4)  (b) 3 (d)
Options:

61547523101, 1
61547523102 2
E1547523103. 3
E1547523104. 4

Question Number : 102 Question Id : 6154755924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to Linguistics and Philology

(a) Chinese script has no letter
(b) It 1s a pictorial script
(c) There 1s a sign for every word

(d) Its origin 1s Japan

Choose the correct answer :
(1) (c) and (d)
(2) (a) and (c)
(3) (b) and (c)

(4) (a) and (b)

Options:
615475221051

E1547523106. 2
61547523107, 3
61547523108, 4

Question Number : 102 Question Id : 6154755924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
9T T v | W SR

(a) =1 g | w1ew =1 99 795 2
(b) == TR AT 2|
(¢  uHE e ¥ form v fg 2

(d) = 38T AUE § 5T

Hr= fou o feeReTl @ H wE I g
1) (e 3 @
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Options:



E1547523105. 1
61547523106, 2
61547523107, 3
61547523108, 4

Question Number : 103 Question Id : 6154755925 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to Jharkhand Encyclopedia

(a) Folk tales lack in flight of vared forms of imagination

(b) Folk songs are fine expressions of heart
(c) Idioms are meaningful savings
(d) The rddles lack in the marvels of double meaning

Choose the correct option :

(1) (a) and (b)
(2) (b)) and (c)
(3) (c) and (d)
(4) (a) and (d)

Options:

61547523109, 1
61547523110 2
61547523111, =2
61547522112 4

Question Number : 103 Question Id : 6154755925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523109, 1
61547522110 2
61547523111, =
61547523112 4

Question Number : 104 Question 1d : 6154755926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
According to Dr. Nirmal Minz :
(a) He who has secured first division. can get enrolment everywhere

(b) The act of making an intellizent person intellizgent 1s not worthy of credit. rather

credit will go to him who makes a dullard an intelligent person

{c) Seats should be reserved permanently for enrolment of candidates who have secured

first division

(d) Students passed in third division should not be enrcled

Choose the correct answer :

(1) {a) and (b)
(2) (b) and (c¢)
(3) (a) and (c)

(4) (b) and (d)



Options:

615475231131
61547522114 2
E1547522115. 2
61547522116, 4

Question Number : 104 Question Id : 6154755926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a) # 1 (b)
(2) (b) = (c)
(3) (a) T (c)

(4 (b) #HE (d)
Options:
15475221121
E1547522114. 2
1547522115 2
61547522116 4

Question Number : 105 Question Id ;: 6154755927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to Morphology

(a) Forms are changed for the sake of simplicity

(b) The urge for novelty 1s felt in every walk of life, but 1ts influence on language 1s not
felt with the same degree

(c) Out of 1znorance also various changes in forms are perceptible

(d) Just for giving stress on a word. there 1s no change in a language

Choose the correct answer :

(1) {a) and (d)
(2)  (b) and (c)
(3) (a) and (c)
(4)  (b) and (d)

Options:

615475231171
61547523118 2
61547523119 2
615475221204

Question Number : 105 Question Id : 6154755927 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523117, 1
61547522118 2
1547522119 2
615475221204

Question Number : 106 Question Id : 6154755928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to Dr. Bimla Charan Sharma
(a) Tribal youth with their bows and arrows look ike Rama
(b) Youths plaving flute look hke Murhdhar
(c) The voung males and females performing group dance look like red Indians

(d) Their Jharkhand region looks hike Sahara — Africa

Choose the correct option :

(1) ia) and (h)
{2) {a) and (c)
(3) {a) and (d)

{4) (b) and (¢}

Options:

61547523121, 1
61547522122 2
61547523123 2
61547523124 4

Question Number : 106 Question Id : 6154755928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a) 3T (b)

(2)  (a) # W (c)
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Options:

BE1547523121. 1
B1547523122. 2
B1547523123. 3
61547523124, 4

Question Number : 107 Question 1d : 6154755929 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Which of the following are associlated with Khortha?

(a)
(b)
(c)
(d)

The famous journal ‘Luathi’ 1s edited by Girdhari Goswami Akash Khunti
Collection of stories entitled ‘Sondhmat1’ 1s compiled by Dr. Vinod Kumar
The Magazine ‘Sangam Patrika’ 1s edited by Dr. Ram Kumar Tiwart

The Magazine ‘Chhotanagpur Sandesh’ 1s edited by Dr. Bhuwaneshwar Anuj

Choose the correct option :

(1)
(2)
(3)
(4)

Options:

(a) and (b)
(b) and (c)
(a) and (c)
(b) and (d)

Yes



BE1547523125.1
B1547523126. 2
B1547523127. 3
61547523128, 4

Question Number : 107 Question Id : 6154755929 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
£1547522125. 1

BE1547523126. 2
B1547523127. 3
61547523128, 4

Question Number : 108 Question Id : 6154755930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to Shr1 Niwas Panur

(a) All poets, hitterateur. journalists of Khortha : Maithili, Magahi, Bhojpuri and Hind1
are not only thrlled with Khortha folk literature but they are also bewildered at 1t

(b) Folk lhiterature of Khortha is preserved in songs sung in Jhumair. KEhemta, Ghera.
Tusu and Karam festivals

{c) Ehortha speaking people do not have ample folk hiterature

(d) Ehortha folk hterature in the forms of folk songs. folk tales idioms and phrases 1s not
sufficient

Choose the correct option :

(1) (a) and (c)
(2) (a) and (b)
(3) (b) and (c)
(4)  (b) and (d)

Options:

61547523129, 1
61547523130 2
61547523131, 2
61547523132 4

Question Number : 108 Question Id : 6154755930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



BE1547523129. 1
61547523120, 2
61547523121, 3
61547523132 4

Question Number : 109 Question Id : 6154755931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Jharkhand encyclopedia

(a) Damkach 1s considered the most popular, mild dance song

(b) Its dance song and tune are picturesque, melodious, catchy and flexible
(c) But musical beats of the instruments do not produce execltement
(d) It 1s basically a male dominated dance song

Choose the correct option :

(1) (a) and (d)
(2)  (a)and (b)
(3) (b) and (c)

(4)  (b)and (d)
Options:
615475231331
61547523134 2
61547522135 =
61547522126 4

Question Number : 109 Question Id : 6154755931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475231531
61547522124 2
61547523135 2
61547523136 4

Question Number : 110 Question Id : 6154755932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who of the following are Santali story writers?

(a) Doman Sahu ‘Samir’
(b) Vinod kumar
(c) Vimal Kumar Toppo

(d) Aditya Mitra Santah

Choose the correct option :

(1) (a) and (b)
(2) (b) and (c)
(3) (a) and (d)

(4)  (c) and (d)

Options:



BE1547523137. 1
61547523128, 2
61547523135, 3
61547523140, 4

Question Number : 110 Question Id : 6154755932 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547523137, 1
61547523138 2
61547523139 2
E1547522140. 4

Question Number : 111 Question Id : 6154755933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to conventional beliefs

(a) first the people belonging to Asur caste lived in Jharkhand
(b) they made tools by smelting iron
(c) they also weave clothes and make baskets etc

(d) they had a lot of property with them

Choose the correct option :

(1) (a) and(b)
(2) (b) and (c¢)
(3) (a) and (c)
(4) (b) and (d)

Options:
1547522141, 1

B1547523142 2
B1547523143. 3
61547523144, 4

Question Number : 111 Question 1d : 6154755933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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1)  (a) 37 (b)
(2)  (b) ¥ ()
3) ()3 (o)

(4)  (b) #H (d)

Options:



E1547523141. 1
B1547523142 2
61547523143 3
61547523144, 4

Question Number : 112 Question Id : 6154755934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Jharkhand Encyclopedia

(a) Jhoom cultivation was banned after the Forest laws of 1952 came 1nto being
(b) Thas created food crisis in tribals

(c) The Forest Development Corporation engage them in cutting forests

(d) But these people get benefits of 1t

Choose the correct option :

(1) (a) and (b)
(2) (b) and (c)
(3) (c) and (d)
(4) (a) and (d)

Options:
61547522145 1

BE1547523146. 2
61547523147, 3
61547523148, 4

Question Number : 112 Question 1d : 6154755934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547523145 1

E154752314E. 2
BE1547523147. 3
61547523148, 4

Question Number : 113 Question Id ;: 6154755935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Ranendra

(a) The language of Sauria Pahara 1s Malto

(b) They are called Sauria Paharia as they live on one hundred mountains
(c) Malto belongs to Dravidian family

(d) Their language 1s Pahara

Choose the correct option :

(1) (a) and (b)
(2) (a) and (c)
(3) (c) and (d)
(4)  (b)and (d)

Options:



E15475231459. 1
61547523150, 2
61547523151, 3
61547523152 4

Question Number : 113 Question Id : 6154755935 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a) 7 (b)
(2} (a) 3T (c)
(3) (o) #E (d)

4) (b)) # ()

Options:

61547523149, 1
61547523150 2
£1547522151. 2
61547522152, 4

Question Number : 114 Question Id : 6154755936 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to Indian Literature

(a) Assamese. Bengali and Oriva evolved in almost 1dentical language situ position
(b) The beginning of their hiterary history 1s also almost similar
(c) All of the above languages do not claim their Association with Magadhi Praknt

(d) The Litterateurs of all the three languages do not consider the Dohas (couplets) of
Bouddha — Sidhs composed 1n Purabi Apbhransh as their primitive work

Choose the correct option :

(1) (a) and (c)
(2) (a) and (h)
(3) (a) and (d)

(4) (c) and (d)
Options:
615475231521
61547523154 2
61547523155 3
61547522156 4

Question Number : 114 Question Id : 6154755936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475231531
61547522154 2
E1547522155 2
61547522156, 4

Question Number : 115 Question Id : 6154755937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to Vedic literature

(a) a person who 1s unable to understand vedic literature cannot learn Indian culture

(b) a person 1gnorant of vedic hiterature can understand the mystery of Budhist literature
(c) because Budhist literature 1s new development of vedic literature

(d) the condition of early days of Indian culture cannot be known by vedic hiterature

Choose the correct option :

(1) (a) and (c)
(2) (b) and (c)
(3) (c) and (d)

(4) (b) and (d)
Options:
615475231571
61547522158 2
61547522159, 3
61547523160, 4

Question Number : 115 Question Id : 6154755937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523157, 1
61547523158 2
61547523159 2
61547523160, 4

Question Number : 116 Question Id : 6154755938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match the works with their authors

List I List IT
(a) Munda Lok Kathaven (1)  Dulai Chandra Munda
(b) Encyclopedia of Mundarika (1) Jagadish Trigunavat
(c) Suda Sengen (1) Ram Dayal Munda
(d) AdiDharma (iv) John Hoffman

Choose the correct option :

(1) (@-v). (b)-@). (@-(1). (d)-(11)
(2)  (@)-Q1). (b)-(1). (c)-(1D), (d)-(v)
(3)  (a)-(w). (b)-av). (c)-(). (d)-(1)

(4)  (a)-(a1). (b)-Gv). (e)-(). (d)-(111)
Options:



E1547523161. 1
B1547523162. 2
61547523163, 3
61547523164, 4

Question Number : 116 Question Id : 6154755938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) HUST = HATT (i) o = qUs
(b) TAHTSFATIISAT #TF GUSTHERT Gi) S ErE
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(d) TR o (iv) = FEHA

(1) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)
(2)  (a)-1). (b)-(1i). (c)-(11), (d)-(1v)
(3) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)

(4) (a)-(11). (b)-(v). (¢)-(1). (d)-(111)
Options:
61547523161, 1
E1547523162. 2
E1547Y523163. 3
61547523164 4

Question Number : 117 Question 1d : 6154755939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match the following castes with their art

List I List IT
(Caste) (Art)
(a) Goldsmith (1) Chulkiya
(b) Blacksmith (1) Chaukhat
(c) Potter () Sikm
(d) Carpenter (iv) Hansua

Choose the correct option :

(1) (@)-(). (b)-(11). (e)-(111). (d)-(1v)
(2)  (a)-(), (b)-(). (c)-w). (d)-(111)
(3) (a)-(11). (b)-(1v). (c)-(1). (d)-(11)
(4 (a)-v). (b)-(1i1). (c)-(11). (d)-(1)
Options:

£15475232165. 1

61547523166 2

E1547523167. 3
E1547523168. 4

Question Number : 117 Question Id : 6154755939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a)-(1). (b)-(12). (©)-(111), (d)-(iv)
(2) (a)-(1), (b)-(1). (c)-(1v), (d)-(111)
(3) (a)-(111). (b)-(v). (¢)-(1), (d)-(11)
(4) (a)-(1v). (b)-(111). (¢)-(1). (d)-(1)



Options:

61547523165, 1
61547522166 2
E1547522167. 2
61547522168, 4

Question Number : 118 Question Id : 6154755940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match the bural place with its castes

ListI List IT
{Burial place) (Caste)
{a) Saasan (1) Khama
(b) Harbora () Munda
(c) Sasaan (111) Oraon
(d) Hargora (1v) Shabar

Choose the correct option :

(1) (a)-(1), (b)-(11). (c)-(111), (d)-(1v)
(2) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(3) (a)}-(111). (b)-(1v). {(c)-(1). (d)-(11)
(4) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)

Options:

51547523169 1

1547523170, 2

61547523171, 3
B1547523172. 4

Question Number : 118 Question Id : 6154755940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1). (b)-(11). (e)-(111), (d)-(v)
(2)  (a)-1). (b)-(11), (¢)-av), (d)-(1)
(3) (a)-(m1). (b)-(1v). (e)-(2), (d)-(11)
(4) (a)-(1v). (b)-(11). (c)-(11). (d)-(1)
Options:
B1547523169.
E1547523170.
61547523171,
61547523172,

[

Question Number : 119 Question Id ;: 6154755941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match the following keeping in view the places of cultural History and the Castes

List I List IT

(Place) (Caste)
(a) Azamegarh (1) Santal
(b) Rohtasgarh (1) Khana
(c) Patna (111) Oraon
(d) Tibet (iv) Munda

Choose the correct option :

(1) (a)-(1). (b)-(11). (e)-(111), (d)-(1v)
(2)  (a)-(1). (b)-(1i1), (c)-(iv). (d)-()
(3) (a)-(v). (b)-(11). (c)-(11). (d)-(1)

{4} {a)'{lu) {b}'(ll} (c)_{]-}! (d}‘{lv}
Options:



BE1547523173. 1
B1547523174. 2
61547523175 3
E1547523176. 4

Question Number : 119 Question Id : 6154755941 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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frefeafea 4 & @@ ey 9w

(1) (a)-(1). (b)-(m). (c)-(11), (d)-(1v)
(2) (a)-(11). (b)-(111), (c)-(1v). (d)-(1)
(3)  (a)-(v). (b)-(id). (e)-(i1), (d)-(1)

(4) (a)-(111). (b)-(11), (c)-(1), (d)-(1v)
Options:
615475231731
61547523174 2
61547523175 2
61547522176 4

Question Number : 120 Question Id : 6154755942 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following works with their authors

List I List IT
(Works) (Authors)
(a) The Mother (1) Jane Austen
(b) Gulhver's Travels (1) Damniel Defoe
(c¢) Robinson Crusoce (m) Swift
(d) Pride and Prejudice (1iv) Gorky

Choose the correct option :

(1) (@-wv). (b)-(1). (c)-(1). (d)-(1)
(2)  (a)-(m). (b)-(v). (¢)-(1), (d)-(11)
(3)  (@-Q). (b)-(ii1), (e)-(D), (d)-(v)
4 (@-). (b)-(u), (e)-(v), (d)-()

Options:

61547523177,
E1547522178.
61547523179,
61547523180,

[

Question Number : 120 Question Id : 6154755942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FreTeAiEa =T = 39 AR o W gH e hitay

T I T IT
(=) ()
(a) = 1) = e
(b) TIEEE e (i) e d
(c) TIfsFTEa (i) ez
(d) IFS UE WAt (iv) T

(1) (a)-w), (b)-(i11). (c)-(11). (d)-(1)
(2) (a)-(111). (b)-(v), (e)-(1). (d)-(11)
(3) (a)-(1), (b)-(111), (¢)-(12), (d)-(1v)
(4)  (a)-({d). (b)-(id). (c)-(iv). (d)-(1)



Options:

61547523177, 1
61547522178 2
E1547522179. 2
61547522180, 4

Question Number : 121 Question Id : 6154755943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match the places of origin with their castes

List I List IT
(Places of origin) (Castes)
(a) Madhya Pradesh (1) Binjhia
(b) Gondwana (1) Gond
() Nagdesh (1) Kora
(d) Brindavan (1v) Kharwar

Choose the correct option :

(1) (2)-Gv). (b)-(iid). (c)-@). (d)-(1)
(2) (-, (b)-(1). (e)-(111). (d)-(v)
(3)  (a)-(id). (b)-(iid), (¢)-({1v). (d)-(1)
(4 (2)-@). (b)-(iv). (c)-(1). (d)-11)

Options:

61547523181, 1
61547523182 2
61547522182 2
E15475221284. 4

Question Number : 121 Question Id : 6154755943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) HEATEW () fafzEn
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(1) (a)-(1v). (b)-(111), (e)-(11), (d)-(1)
(2)  (a)-(). (b)-(i1). (c)-(iii), (d)-(iv)
(3)  (a)-). (b)-(ii). (c)-(1v). (d)-()
4 (a)-(id). (b)-(iv). (c)-(), (d)-G1)

Options:

E1547523151.
61547523182,
61547523183,
61547523184,

[ N

Question Number : 122 Question 1d : 6154755944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the following as per the “Adi Dharma”

ListI Last IT
(a) God (1) Parva Sanskar
(b) Creation (1) The Earth
(c) Cycle of Seasons (1) Economy
(d) Rituals (Anushthan) (1v) Inahenable associates of human

Choose the correct option :

(1) (@)-w). (b)-(b). (e)-(111), (d)-(1)
(2)  (a)-1), (b)-av), (e)-(), (d)-{1D)
(3)  (a)-(). (b)-(i1). (c)-(v). (d)-(1)
4)  (@-Q1). (b)-(D). (c)-(md). (d)-(v)

Options:



BE1547523185. 1
61547523186, 2
B1547523187. 3
61547523188, 4

Question Number : 122 Question Id : 6154755944 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T T-II
(a) TETE (i) wE T
(b) Tfz (i) g
(c) hdTH (i) e
(d) =IEA (iv) HFE 1 A9 FEAr
At 9 ° W@l ey 9

(1) (a)-(1v). (b)-(11). (c)-(111), (d)-(1)
(2) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(3) (a)-(11). (b)-(111). (c)-(av). (d)-(1)
(4) (a)-(1). (b)-(11). (c)-(a11). (d)-(1v)

Options:

61547523185, 1
E1547522186. 2
61547522187, 5
61547522188, 4

Question Number : 123 Question Id : 6154755945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the names of months with those of festivals celebrated therein

List I List IT
(Month) (Festival)
(a) Vaishakh (1) Tusu
(b) Ashwin (1) Rathyatra
(c) Ashadh (1) Jeetiva
(d) Pausha (1v) Manda

Choose the correct option :

(1) (a)-(1). (p)-(1). (e)-(11). (d)-(v)
(2) (a)-(11), (b)-(111), (©)-(1v), (d)-()
(3) (a)-(m1). (b)-(v). (c)-(1). (d)-(11)
(4) (a)-(tv). (b)-(and). (¢)-(11), (d)-(1)

Options:

61547523189, 1
61547522190 2
E1547522191. 2
61547522192, 4

Question Number : 123 Question Id : 6154755945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
feAfefEa 7eF § v % 99 geie Hirae

=11 =11
() ()
(@) =T @ z4
(b)  =TTEA (i) TIEET
(c) oHE (1) ST
(d) TH (iv) os
Fefertea 9 = a8 fge 9w

(1)  (a)-Q). (b)-(1). (e)-(111), (d)-(1v)
(2)  (a)-(). (b)-(iiD). (c)-(v). (d)-(1)
(3)  (a)-(u). (b)-(v). (c)-(1). (d)-(11)
(4) (a)-(1v). (b)-(ii1). (c)-(i1), (d)-(1)



Options:

61547523189, 1
61547522190 2
E1547522191. 2
61547522192 4

Question Number : 124 Question Id : 6154755946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following
LastI Last IT
(Occupation) (Caste)
(a) Hunting (1) Godait
(b) Temporary cultivation (1) Bhumiy
(¢) Cultivation with Plough (111) Parahiya
(d) Craftsmanship (iv) Birhor

Choose the correct option :

(1) (a)-(1v), (b)-(111). (c)-(11), (d)-(1)
(2) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)
(3) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(4) (a)-(111), (b)-(1v). (c)-(1), (d)-(1)
Options:

£15475E231493 1

15475221394, 2

E1547523185. 3
E1547523196. 4

Question Number : 124 Question Id : 6154755946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(c) 7 il =l (i) wfE
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freftaEa 5 8 74 fawey 9w

(1 (a)-av). (b)-(111), (¢)-(11), (d)-(1)
(2) (a)-(1). (b)-(i1). (¢)-(111), (d)-(1v)
(3)  (a)-(). (b)-(m). (¢)-(1v). (d)-(2)
(4) (a)-(111). (b)-(iv). (¢)-(1). (d)-(11)

Options:

61547523193, 1

61547523194 2

61547523185 3
615475231396, 4

Question Number : 125 Question 1d : 6154755947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match various movements in Jharkhand with their Propounders

List I Last IT
(Movements) (Propounders)
(a) Tana Bhagat movement (1) Sing Rai - Bindrai Manalk
(b) Abuaa Dishum Abuaa Raaj (1) Telanga Khariva
(¢) Jury Panchavat (1) Birsa Munda
(d) Larka movement (iv) Jatra Tana Bhagat

Choose the correct option :

(1) (a)-(). (b)-(). (e)-(111), (d)-(1v)
(2) (a)-(v). (b)-(111), (¢)-(11), (d)-(2)
(3)  (a)-(), (b)-(1v). (¢)-(1), (d)-(11)
(4) (a)-(1). (b)-(11). (¢)-(111), (d)-(1v)

Options:

B15475231497. 1

£15475231498 2

E1547523199. 3
B1547523200. 4

Question Number : 125 Question Id : 6154755947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



FrETE # e AT 1 3 A & A % =5 gHfed i

11 =111
(Trarem) (i)
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(© il = (i) TrHT 7Us]
(d) T T (iv) = 2 W
f=ffEa 7 @ 94 fawey 9w

(1 (a)-(11). (b)-(1). ()-(111), (d)-(1v)
(2)  (a)-(w). (b)-(i11), (e)-(11), (d)-(1)
(3)  (a)-(m). (b)-(v). (c)-(2), (d)-(1)
(4)  (a)-(1). (b)-(i1). (c)-(111), (d)-(1v)

Options:

61547523197, 1

61547523198 2

61547523199 3
61547523200, 4

Question Number : 126 Question Id : 6154755948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following 1s correctly arranged chronologically?

(1) Shivraj Bhushan, Juhi ki Kah, Madhu Malati, Bhramar Geet
(2) Bhramar Geet, Shivra) Bhushan. Juhi ki1 Kah, Madhu Malata
(3) Madhu Malati, Bhramar Geet, Shivra; Bhushan, Juhu Ki Kali

(4) Juhu k1 Kali, Madhu Malati. Bhramar Geet, Shivra) Bhushan

Options:

61547523201, 1
61547523202 2
61547523203 2
61547523204 4

Question Number : 126 Question Id : 6154755948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=9 FIE-0 T Tl IR T A7
(2) W, FEA g, FEl 6 Fell, AT
(3)  HYHTedl, W A, ferars g, @ A Fel

(4)  FFr i e, TgETE], 9 G, Es g
Options:
615475232011
61547523202, 2
615475232032, 3
61547523204, 4

Question Number : 127 Question Id ;: 6154755949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the correct sequence of rasa in the Ramayana?

(1) Shringar, Veer, Raudra, Adbhut
(2) Veer, Raudra, Adbhut, Shringar
(3) Raudra, Adbhut, Shringar, Veer

(4) Adbhut. Shringar, Veer, Raudra

Options:

61547523205, 1
61547523206 2
61547522207, 2
E1547522208. 4

Question Number : 127 Question Id : 6154755949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
w 1 3fe T THEY § T8 sy Fm A v

B, X, @ i, w5
@ T, =, 2, dw @) @A, o, i, A3
Options:

BE1547523205. 1
B1547523206. 2
B1547523207. 3
E1547523208. 4



Question Number : 128 Question Id : 6154755950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the correct sequence of the following auditory art from Western point of view?

(1) Architecture. Sculpture, Painting. Poetry. Music
(2) Sculpture, Architecture, Poetry. Painting, Music
(3) Poetry, Music, Painting, Sculpture, Architecture

(4) Architecture. Sculpture, Painting. Music, Poetry

Options:

61547523209, 1
61547523210 2
61547523211, 2
E1547522212. 4

Question Number : 128 Question Id : 6154755950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
UITETeT 31 H 7T @ 450 el B HEl SEE A ¢

L C bl o
(1) AT, HIdFedl, T, H=Ahell, HTd=hed]

(2)  Tideen, T, FEAH], T, A

il [ P
(3) Frhedl, HIAhell, THAFAT, HIaHhdl, Al

(4) AR, qidwen, e, Tiasr, Feawl

Options:
B1547523209. 1

E1547523210. 2
E1547523211. 3
B154752321%2. 4

Question Number : 129 Question Id ;: 6154755951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following 1s a group of primitive tribes?

(1) Lohara, Kharwar, Khariya. Karmah
(2) Banjara, Bathudi, Bediya, Binjhiya
(3 Birajiva. Birhor, Korba, Parahiva

(4) Baiga, Gond. Godait. Mahali



Options:

615475232131
61547522214 2
E1547522215 2
61547522216, 4

Question Number : 129 Question Id : 6154755951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) =T, TEn, TS, e (2) ==, =YST, s, fatE
(3) farfer, famer, Fmar, T (4) =TT, TS, TSR, HEAl
Options:

BE1547523213. 1
B1547523214. 2
61547523215 3
B1547523216. 4

Question Number : 130 Question Id : 6154755952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s the correct sequence arranged on the basis of decreasing

population?

(1) Chik Badaik, Asur, Banjara. Munda, Chero
(2) Banjara, Asur, Chik Badaik, Chero, Munda
(3) Chero, Chik Badaik. Asur, Banjara, Munda

(4) Asur, Chero, Chik Badaik, Banjara. Munda
Options:

15475232171

61547523218 2

61547523219 3

61547523220 4

Question Number : 130 Question Id : 6154755952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Tl SHEEAT  STEE W HE A9HE w2 Y

(1) =i wI=E, G, S/, qUsi, =91
(2) AR, 3EE, = TSEE, T, qUS
(3)  HgUsi, =W, Hi% GSE®, FGL, SAN

(4) @, =, F0 q9F, THAA, oI

Options:

615475232171
61547523218 2
E1547522219. 2
615475223220, 4

Question Number : 131 Question Id : 6154755953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the correct sequence of following movements in Jharkhand chronoclogically?

(1) Birsa movement, Larka movement. Tana Bhagat movement. Santal movement
(2) Larka movement. Santal movement. Birsa movement, Tana Bhagat movement
(3) Tana Bhagat movement, Birsa movement, Larka movement, Santal movement
(4) Santal movement. Birsa movement. Larka movement. Tana Bhagat movement
Options:

E1547523221. 1
B1547523222. 2
B1547523223. 3
B1547523224. 4

Question Number : 131 Question Id : 6154755953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FEvS | FA H 2§ AT F GE AT FET

(1) T sTwaie, =i #ieare, ZFT WTE seie, Jdie A

(2) T AR, AT AEeH, e e, 2E 9 A

(3) 2T 9T dTFﬂr_ﬂ Ees -34|~£1r*1-|, SLED mlr{'lrd—i. AT -'leri_iﬂd

(4) HATe AT, TS0H ARSI, o A, 2T 9 AR

Options:

61547523221, 1
61547523222 2
61547523223 2
E15475223224 4



Question Number : 132 Question Id : 6154755954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Ranendra what 1s the true sequence of the kinds of Birajiva?

(1) Sinduriya. Telara, Dudh Birjiya. Ras Birjiva
(2) Telara, Dudh Birjiva, Ras Birjiyva. Sindurya
(3) Dudh Biurjiya. Ras Birjiya. Sinduriya. Telara

(4) Ras Birjiya. Sinduriya. Telara. Dudh Birjiya
Options:
61547523225 1
B15475232726. 2
61547523227 3
15475223228, 4

Question Number : 132 Question Id : 6154755954 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

wieg i 2fe o T & 9ef & wd w5y o 27

(1)  fagfen, dem, gafetn, = fefm (2) e, ZateRtEn, Wi, e

p "

(3) Zafeismn, ™ fafsmn, fagfmn, dem (4) T Teafemn, fagfan, 9om, Zafeim

Options:

61547523225, 1
61547523226 2
61547523227, 2
61547523228 4

Question Number : 133 Question 1d : 6154755955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

According to Kapildev Dwived: what 1s the correct sequence of external reasons of change of
language?

(1) Geographical, historieal, cultural. individual

(2) Historical, cultural, individual, geographical

(3) Cultural. individual, geographical. historical

(4) Individual, geographical, historical. cultural

Options:



B1547523229. 1
B1547523230. 2
61547523231, 3
E154752323%2. 4

Question Number : 133 Question Id : 6154755955 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

(1) ITITeA, UfdaTia, AEFiaH, Jam® (2) TfdETE, TEHAF, FafEE, SR

(3)  WHTE, AT, TATH, UfdaTs (4)

Options:

61547523229, 1
61547522220 2
61547523221, 5
615475223232 4

Question Number : 134 Question Id : 6154755956 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following 1s the correct sequence of Santals, Sadans, Mundas. Oraons?

(1) Mahadev. Singbonga, Marang Buru, Chala
() Sing bonga. Marang Buru, Chala. Mahadev
(3) Marang Buru, Mahadev, Sing Bonga. Chala

(4) Chala. Marang Buru, Sing Bonga, Mahadev
Options:

615475232331

61547523234 2

615475223235 5

615475223236, 4

Question Number : 134 Question Id ;: 6154755956 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

(1) aerea, To=am, wE g%, 9 (2
(3)  TE 9%, HEed, fagEm, = e (4)

Options:

7

T WA, FEM, HUE1, 309 F SIHE 0 i TE ST 7

[ - B
HssF, Hilz E:'G, dledl, Hrlod

'rI .\: |_ ]:H]f,-' a_._""?. iﬁ -:,-'EI-..]II = l:Ir'. ﬂ;;a

Yes

Yes

Yes



BE1547523233. 1
B1547523234. 2
61547523235, 3
E1547523236. 4

Question Number : 135 Question Id : 6154755957 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the correct sequence of domestic, metallic. cooking, agriculture tools?

(1) Ledara. Lota. Cheru (Chari). Pata
(2) Lota. Cheru (Chari). Pata. Ledara
(3) Cheru (Chan). Pata. Ledara. Lota

(4) Pata. Ledara. Lota, Cheru (Chari)

Options:

61547523237, 1
61547523238 2
E1547522229 2
61547522240 4

Question Number : 135 Question Id : 6154755957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Tie], U9, W T, FT 30RO F FA T gE ATEE FH A7

1) w3, T @ e, == (Ff), T, o
(3) == (=), 9, o, | (4) e, ==y, @, =% (=)
Options:

61547523237, 1
61547523238, 2
61547523239, 3
E1547523240. 4

Question Number : 136 Question Id : 6154755958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Following are given two statements. One 1s marked as Assertion (A) and the other 1s marked

as Reason (R).

Assertion (A):  The Laxmi Festival celebrated in the Amavashya in the Kartik month 1=

called Sohrai

Reason (R) : There 1= practice of giving Paikara (annual endowment) to Ahirs.
Choose the correct answer from the following options :

(1) Both (A) and (R) are true
(2) Both (A) and (B) are wrong
(3) (A) 15 true. but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:

61547523241, 1
61547523242 2
61547523243 =2
E1547522244 4

Question Number : 136 Question Id : 6154755958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SAFE (A) : FIF HTE 5l ARTETA] H HAE A A AT 08 diEE 2|
7% (R) : =0 T4 ° g B9 ° ST i 95w (anie gea) o = g 2|
Frer fou o fawent § ° 98 I 9

(1) (A) =1 (R) o1 =71 7
(2)  (A) ¥ (R) F1 7o 2
(3)  (A)TFE 2 (R) T4 7

(4) (A TeE ® (R) @@ 2

Options:



B1547523241. 1
B1547523242 2
61547523243, 3
61547523244, 4

Question Number : 137 Question Id : 6154755959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Following are given two statements. One 1s marked as Assertion (A) and the other 1s marked

as Reaszon (R)

Assertion (A):  During literary Prakrt period (middle age) Prakmt language had 1its

regional or geographical division

Reaszon (R) : Its independent form was started to be used 1n various regions.

Choose the correct option :

(1) Both (A) and (R) are false
(2) Both (A) and (R) are true
(3) (A) 1s true. but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:
615475237245 1
E1547522246. 2
E1547522247 2
1547523248 4

Question Number : 137 Question Id : 6154755959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1% 7 e foe o B, o @ v e (A) % i g  R) 2

AT (A) : AfEfers T Fel (W57 1) J U 9T S T A e 6w T A
F (R) : fata= &= 9 5o =99 =9 99F B o)

e fou 7o el & ® wE T g

(1)  (A) 3 (R) TF =4 2
(2)  (A) 3R (R) TF TH F
(3  (A)=E 2 (R) 7= 2

(4  (A)TeE 2 (R) T A

Options:

61547523245, 1
61547523246 2
61547523247 o
615475232458 4

Question Number : 138 Question 1d : 6154755960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Following are given two statements. One 1s marked as Assertion (A) and the other 1s marked

as Reazon (R).

Assertion (A):  Madait1 1s not 1n vogue in Nagpuri.

Reason (R) : Because all the work 1z performed by giving money for 1t.
Choose the correct optlon :

(1) Both (A) and (R) are true
(2) (A) 18 true and (R) 1s false
(3) Both (A) and (R) are false

(4) (A) 1s false and (R) 1s true

Options:
61547523249, 1



B1547523250. 2
61547523251, 3
61547523252, 4

Question Number : 138 Question 1d : 6154755960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

1 21 e fou e E, fow @ w st (A) # SR gE 9 R) 2

ATFT (A) : Tl § HEEAl 1 u=e T R
7% (R) : T |W FH UH 29 5 Fh B

= f2u o et 9 @ wE I g

(1)  (A) 37 (R) I #3 3|
(2) (A) # % (R) e 2
(3)  (A) 3R (R) 3H1 7Toid 7

4 (A 7Ted ® (R) "w L R

Options:

£1547523249. 1
E15475223250. 2
615475223251,
61547523252 4

Question Number : 139 Question Id ;: 6154755961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Following are given two statements. One 1s marked as Assertion (A) and the other 1s marked

as Reason (R)

Assertion (A) : The Mother Tongue of Sadans 1s Sadan1

Reason (R) : Therefore the official language of Nagvanshis 1s Nagpun

Choose the correct option :

(1) Both (A) and (R) are false
(2) (A) 1s true but (R) 1s false
(3) (A) 12 false, but (R) 15 true

(4) EBoth (A) and (R) are true

Options:

615475232531
E1547523254 2
61547523255, 5
615475223256 4

Question Number : 139 Question Id : 6154755961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
= 21 Fee fou o 2, 59§ v stfasee (A) 2 9 250 9% (R) 2

I (A) - Tl F1 ArgaT T 2

T (R) : AT AFETEET =i TAETET T F
= f2u o el 9w wE I g

(1) (A 3R (R) 3H1 7Tea 2
(2) (A =#E 2 (R) Teid 7
(3) (A) T 7 (R) TE 2

4 (A) @R (R) =41 #7413

Options:



BE1547523253. 1
B1547523254. 2
61547523255, 3
E1547523256. 4

Question Number : 140 Question Id : 6154755962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Two statements are given below, one 1s labelled Assertion (A) and the second as Reason (R)

Assertion (A):  Culture 1s the lhife of society. It 1s culture which leads to the progress or

downfall of a country.

Reason (R) : It has indeliable impact also on language

Choose the correct option from the options given below :

(1) (A) and (R) both are not true
(2) (A) and (R) both are true
(3) (A) 18 true and (R) 1s false

(4) (A) 1s false and (R) 1s true

Options:

61547523257, 1
61547523258 2
61547523259 2
61547522260 4

Question Number : 140 Question Id : 6154755962 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Hr 21 o fou o 2, 59 ® v sifased (A) 2 31 250 o5 (R) 7

HATF (A) EEHT] AT 1 SE 7| HEHi 7 AT 29 S A1 3= w2
7 (R) : 9T 9% o 3HH 9 FAfE w2
Fi= fau o faeai 9 ° oE I =9

(1) (A 3R (R) =41 7T 2|
(2) (A) 31 (R) =1 T 7|
(3) (AT 2 (R) =4 2

4) (A TE 2 R)TH 2
Options:
615475232571
61547523258 2
615475232549 2
61547523260, 4

Sub-Section Number: 2
Sub-Section 1d: 615475263
Question Shuffling Allowed : Yes

Question Id : 6154755963 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehension

Read the following passage and answer guestions (91-95).

In Indian language family. the Dravidian language famly 1s considered very old. It is around
three thousand and five hundred vear old language and there are bases that this language
evolved with the mixture of languages of Pali-Prakrit. Subsequent language research has
revealed that in languages of countries like Japan, Germany. Srilanka etc which adopted
Budhism. Tamil words are mixed. Similarly. influence of ancient Tamil literature 1s seen on

Pali and Prakrit words as well as Budhishtha and Jainism religions

Sub questions

Question Number : 141 Question Id ;: 6154755964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What should be the suitable title of this passage?

(1) Influence of Tamil literature
(2) Mixture of Pali language
(3) Budhism

(4) Prakrit language

Options:

61547523261, 1
E1547523262. 2
61547523262 5
615475223264 4

Question Number : 142 Question Id : 6154755965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The countries that adopted Budhism are

(1) Japan (2) SriLlanka
(3) Tamilnadu (4) Japan and Sr1 Lanka
Options:

E1547523265. 1
E1547523266. 2
B1547523267. 3
G1547523268. 4

Question Number : 143 Question 1d : 6154755966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which language 1s referred to as three thousand five hundred vear old?

(1) Prakmt (2) Germany
(3) Dravidian language family (4) Pah
Options:

61547523269, 1
G1547523270. 2
E1547523271. 3
E1547523272. 4

Question Number : 144 Question Id : 6154755967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following the mixture of Tamil words 1s found?

(1) In Pali and Sanskrit

(2) In languages of the countries which adopted Budhism
(3) In North Indian language

(4) In Indian languages

Options:



B1547523273. 1
B1547523274. 2
B1547523275. 3
E1547523276. 4

Question Number : 145 Question 1d : 6154755968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following called very old one?

(1) Indo Arvan language family (2) Austric language family
(3) Dravidian language family (4) Chinese language family
Options:

E1547523277. 1
61547523278, 2
BE1547523279. 3
E1547523280. 4

Question Id : 6154755963 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehiension

39 : F=leiE Tl 1 92 = A= 2 70 uvs e 91 § 95 % I Sifew

YHAE 91 aiEr o gfas wmey giEn s1f e 99 S0 2 | S JF1 290 9T H gTe S g8 9T 39
a1 TIeT-WThd WTIEA & A0 | fawid 74 % S9N 2| 91E § 5 9wy | fava | atg o w6
AN F6 S9E, T, o o 29 6 gren § 6 o9 a9 979 % el & (549 9T T 2

=ft 9 W e WA Wl mA-wY wtg v 39 U F AT 59 W I afe e w1 e

o e =41 7|
Sub questions

Question Number : 141 Question Id : 6154755964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=9 f=ae 1 39gw WihE 4 5T

(1) T8 | MfEcT 1 99
(2) Tl |7 R S
(3) wig e

(4) WA T

Options:
61547523261, 1

B1547523262. 2



E1547523263. 3
B1547523264. 4

Question Number : 142 Question Id ;: 6154755965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

L r = g R Y o
dlg °9H AU 97 29 F

(1) =mH (2) e
(3)  AHEATE (4) =M T Hiew
Options:

61547523265, 1
E1547523266. 2
B1547523267. 3
B1547523268. 4

Question Number : 143 Question Id ;: 6154755966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
o BE 9= H AT i ST e e wm T R e

(1) = (2) T
(3)  zfas umw ufEw (4) I
Options:

BE154752326%9. 1
B1547523270. 2
B1547523271. 3
E1547523272. 4

Question Number : 144 Question 1d : 6154755967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) it o 705 | (2) g g9 FEE T 29 H 9 0
(8) It OWAE 9O W (4) HEAE A
Options:

615475232731
E1547523274. 2
61547523275 3
B1547523276. 4

Question Number : 145 Question Id : 6154755968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



af U= g a3 e 2

(1)  9rdE 9 9iEn (2) AT 99T 9HEn
(3) Ziere g giEn (4) == T gfEE
Options:

B1547523277. 1
B1547523278. 2
E1547523279. 3
61547523280, 4

Sub-Section Number: 3
Sub-Section 1d: 615475264
Question Shuffling Allowed : Yes

Question Id : 6154755969 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

Read the following passage and answer guestions (96-100).

The Asurs of Jharkhand flourished from neolithic age to Iron age upto Chotanagpur region.
They learnt the art beginning from melting of 1ron to architecture. The remnants of

Asurgarhs built by them are still found 1n some of the places there.

Items of architecture. pottery. tools dating back to Before Christ have been found which
indicate that parallel to the Indus-valley civihization a Damodar valley civilization had also
developed. According to Dr. B. Virottam the Asur tribe must be living in beautiful houses

and big settlements.

Sub questions

Question Number : 146 Question Id : 6154755970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What should be the suitable title of this passage?

(1) Iron age
(2) Chhotanagpur
(3) Asurgarh

(4) Asurs of Jharkhand
Options:
15475222811
B154d7523282 2
61547523283 2
61547523254 4



Question Number : 147 Question Id : 6154755971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

From when does the history of Asurs begin?

(1) From Iron Age (2) After formation of Chhotanagpur
(3) From Stone Age (4) From Modern Age
Options:

B1547523285. 1
B1547523286. 2
E1547523287. 3
61547523288, 4

Question Number : 148 Question Id : 6154755972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which civilization existed parallel to Damodar valley civilization?

(1) Chhotanagpur valley (2) Indus valley
(3) Asur valley (4) Jharkhand valley
Options:

BE1547523289. 1
B1547523230. 2
61547523251, 3
B154752325%. 4

Question Number : 149 Question 1d : 6154755973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who were the architect of Iron Age?

(1) Dr. B. Virottam (2) People hving B.C.
(3) House Builders (4) The Asurs
Options:

E15475232593. 1
E1547523294. 2
615475232585 3
G15475232396. 4

Question Number : 150 Question Id : 6154755974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Where did the Asurs hive?

(1) in forests (2) on mountains

(3) 1n beautiful houses (4) 1n the Indus valley
Options:

BE1547523297. 1
B1547523298. 2



E15475232945. 3
B1547523200. 4

Question Id : 6154755969 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension
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Sub questions

Question Number : 146 Question Id : 6154755970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
=0 =R F I9G H6E F B

(1) == g
(2) EIGAR IR
3) TR

() FEETS % A

Options:

615475232811
E1547523282. 2
615475223282,
61547522284, 4

Question Number : 147 Question Id ;: 6154755971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
STEA] T STAETE e H AR w1 R Y

(1) =Tz T o (2) -;_Q-II-:-_',J-IIJI‘-LU T T AR
(3) W wE T (4) sgFE T HE
Options:

61547523285, 1
61547523286, 2
BE1547523287. 3
E1547523288. 4



Question Number : 148 Question Id : 6154755972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
M G F GHET F -1 e o

(1)  SEAFE =i (2) Torg =T
(3) o EE (4) FoETs T
Options:

61547523289, 1
B1547523230. 2
B1547523291. 3
B1547523252. 4

Question Number : 149 Question 1d : 6154755973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HE-T1 F i w97

(1) =i =t =oew (2) =E A & =@
(3)  aA-fmi (4) ¥R
Options:

B15475232593. 1
61547523254, 2
61547523235 3
E15475232396. 4

Question Number : 150 Question Id : 6154755974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

P 7 e
LI TRl FaE FAd q ¢

(1) == | (2) ueret A
(3)  HET WA (4) =g T o
Options:

615475232397, 1
E15475232598. 2
E15475232945. 3
B1547523200. 4



